UGC NET 2021 Bengali SH2

Topic:- Bengali_SH2_set1_A
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[Question ID = 2101][Question Description = S2_qSNz_PG_BEN_QO01]
1. JWINT [Option ID = 8401]

2. f@fI=1 [Option ID = 8402]
3. \B%i< [Option ID = 8403]
4. GANG [Option ID = 8404]

Correct Answer :-

e STHINT [Option ID = 8401]
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[Question ID = 2102][Question Description = S2_qSNz_PG_BEN_QO02]

1. IFJRITI [Option ID = 8405]
2. SISNIG [Option ID = 8406]

3. {31 [Option ID = 8407]
4. 41&GLIe [Option ID = 8408]

Correct Answer :-

o« JFJRITI [Option ID = 8405]
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[Question ID = 2103][Question Description = S2_qSNz_PG_BEN_QO03]
1.A-1V,B-V,C-1l,D-Ill, E-I[Option ID = 8409]
2.A-V,B-ll,C-1l,D-1, E- IV [Option ID = 8410]
3.A-1,B-1IV,C-V,D-Il, E - lll [Option ID = 8411]
4. A-1I,B-V,C-1,D-1ll, E- IV [Option ID = 8412]

Correct Answer :-
e A-IV,B-V,C-1l,D-Ill, E-I[Option ID = 8409]

4) g% 3T A6 IO VG- 8Z TSIT (RS T:

A. FIIAZY ICEARLEAN, STANAGIE QLN TSR IFdol WAT
M frTd TIITe 8 Mg, fFg =Iroy 981 d 51 (|21

B. ATIATYGH (TN O, WfSHNL LTS NTF TV WS 8 TS
Afsa g1

C. WINSAT FIAT TENIIA FAH/NY TF WA N A 9198
A FSfae |

D. WINHT' FIIIF A IS FIA1 77 Wrgra fimge e T=yfe
+AfF=za FafPra|

E. ATAIHGH NG VTS, (FIANH TS AfOro2 TF AT HE
o 46 Srgfoa grar 5o fGurgs Sood fTerom|

AMS AT (I-[TFHOTe I T3 W, ife =
[Question ID = 2104][Question Description = S2_qSNz_PG_BEN_Q04]
1. (<1 A, B 432 C [Option ID = 8413]

2. (] B, C 4<2 D [Option ID = 8414]

3. (<1 C, D 4<§ E [Option ID = 8415]

4. (I D, E 432 A [Option ID = 8416]

Correct Answer :-
o (PJeT A, B {<R C [Option ID = 8413]
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[Question ID = 2105][Question Description = S2_qSNz_PG_BEN_QO05]
1. WIf%< [Option ID = 8417]
2. A(eTY [Option ID = 8418]



3. NIGAIQA [Option ID = 8419]
4. eI« [Option ID = 8420]

Correct Answer :-
o WIS [Option ID = 8417]
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[Question ID = 2106][Question Description = S2_qSNz_PG_BEN_QO06]
1. IFR G STBINLITT [Option ID = 8421]

2. 2N (BIYA [Option ID = 8422]

3. AW *MF [Option ID = 8423]

4. ATV fGAT [Option ID = 8424]

Correct Answer :-
o JMEAGH BLBIATKIT [Option ID = 8421]
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[Question ID = 2107][Question Description = S2_qSNz_PG_BEN_QO07]
1. STIfRC3F @18 #rf [Option ID = 8425]

2. JMBJ [Option ID = 8426]

3. (RUETQAIAT QI 5 [Option ID = 8427]

4. ©T & ST [Option ID = 8428]

Correct Answer :-

o SIfRT@IF ©I V¥ [Option ID = 8425]
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[Question ID = 2108][Question Description = S2_qSNz_PG_BEN_QO08]
1. (SRCNH [Option ID = 8429]

2. (RNGH [Option ID = 8430]

3. YT [Option ID = 8431]

4. NYTA TSI [Option ID = 8432]

Correct Answer :-

o (p(NH [Option ID = 8429]
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[Question ID = 2109][Question Description = S2_qSNz_PG_BEN_QO09]
1. I3 [Option ID = 8433]

2. I [Option ID = 8434]

3. AT [Option ID = 8435]



4. 7 [Option ID = 8436]

Correct Answer :-
e JJB [Option ID = 8433]
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[Question ID = 2110][Question Description = S2_qSNz_PG_BEN_Q10]
1. Ne1J& [Option ID = 8437]

2. 1198 [Option ID = 8438]

3. fiT®JS [Option ID = 8439]
4. AJUSF BROPN [Option ID = 8440]

Correct Answer :-
e Me1JQ [Option ID = 8437]
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[Question ID = 2111][Question Description = S2_qSNz_PG_BEN_Q11]
1.A-1I,B-1,C-1V, D - Il [Option ID = 8441]

2. A-1l,B-1V,C-1,D-1ll [Option ID = 8442]

3.A-IV,B-1lIl,C-1,D-1l [Option ID = 8443]

4. A-1l,B-1V,C-1l,D-I[Option ID = 8444]

Correct Answer :-

e« A-1Il,B-1,C-1IV,D- Il [Option ID = 8441]
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[Question ID = 2112][Question Description = S2_qSNz_PG_BEN_Q12]
1.A-1V,B-1ll,C-1l,D-1 [Option ID = 8445]
2.A-11,B-1,C-1IV,D- Il [Option ID = 8446]
3.A-1I,B-1V,C-1,D - Ill [Option ID = 8447]
4. A-1l,B-1V,C-1, D-1l[Option ID = 8448]

Correct Answer :-

e A-IV,B-IIl,C-1l,D-1I [Option ID = 8445]
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[Question ID = 2113][Question Description = S2_qSNz_PG_BEN_Q13]
1. A, C, D, B [Option ID = 8449]

2. B, D, C, A [Option ID = 8450]

3.C, B, A, D [Option ID = 8451]

4.D, C, B, A [Option ID = 8452]
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Correct Answer :-

« A, C, D, B [Option ID = 8449]
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[Question ID = 2114][Question Description = S2_qSNz_PG_BEN_Q14]
1. A, C, D, B [Option ID = 8453]



2. B, A, D, C [Option ID = 8454]
3.C, A, D, B [Option ID = 8455]
4.D, B, C, A [Option ID = 8456]
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Correct Answer :-
e A, C, D, B [Option ID = 8453]
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[Question ID = 2115][Question Description = S2_qSNz_PG_BEN_Q15]
1. WS 8 Y& Twx2 {53 [Option ID = 8457]

2. TB/T6 35 5T (ST @ [Option ID = 8458]

3. W6 G fF&® &6 5 [Option ID = 8459]

4. TS S Y[& BOAR e [Option ID = 8460]

Correct Answer :-

. BT 8 IS Gon2 5 [Option ID = 8457]
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[Question ID = 2116][Question Description = S2_qSNz_PG_BEN_Q16]
1. W8T 3 & Tox2 5% [Option ID = 8461]

2. TB/T6 3 5T (ST @ [Option ID = 8462]

3. B0 G [5G &0 O [Option ID = 8463]

4. TS 3 Y[& BOAR el [Option ID = 8464]

Correct Answer :-

. WS 3 & Toyz 5 [Option ID = 8461]
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[Question ID = 2117][Question Description = S2_qSNz_PG_BEN_Q17]
1. (] A, B 433 C [Option ID = 8465]

2. (91 B, C 42 D [Option ID = 8466]

3. (31 C, D 432 A [Option ID = 8467]

4. (I D, A 432 B [Option ID = 8468]

Correct Answer :-

e (PJe A, B 41} C [Option ID = 8465]
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[Question ID = 2118][Question Description = S2_qSNz_PG_BEN_Q18]

1. 51 [Option ID = 8469]

2. IR [Option ID = 8470]

3. ST [Option ID = 8471]

4. (JITY [Option ID = 8472]

Correct Answer :-

o f5® [Option ID = 8469]
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[Question ID = 2119][Question Description = S2_qSNz_PG_BEN_Q19]

1. OT™W¥-©G [Option ID = 8473]

2. Y N 32 [Option ID = 8474]

3. WOATFO—AYN AWI] [Option ID = 8475]

4. TSNS ATy [Option ID = 8476]

Correct Answer :-

o« OT™¥-g [Option ID = 8473]
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[Question ID = 2120][Question Description = S2_qSNz_PG_BEN_Q20]
1. PC:deT A, B 4<R C [Option ID = 8477]

2. $(=Je B, C G2 D [Option ID = 8478]

3. (I C, D ]2 A [Option ID = 8479]

4. (€D, A 32 B [Option ID = 8480]

Correct Answer :-

o P91 A, B 4<R C [Option ID = 8477]
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[Question ID = 2121][Question Description = S2_qSNz_PG_BEN_Q21]
1. (Je A, B 432 C [Option ID = 8481]

2. $(=Je B, C G2 D [Option ID = 8482]

3. (<1 C, D 432 A [Option ID = 8483]

4, F(-Je1 D, A 432 B [Option ID = 8484]

Correct Answer :-

o B(9eT A, B {3} C [Option ID = 8481]
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[Question ID = 2122][Question Description = S2_qSNz_PG_BEN_Q22]
1. PC:deT A, B 4<R C [Option ID = 8485]

2. $(=Je B, C 492 D [Option ID = 8486]

3. (P9 C, D 32 A [Option ID = 8487]



4. F(J D, A G332 B [Option ID = 8488]

Correct Answer :-

o F(oIA A, B G32 C [Option ID = 8485]
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[Question ID = 2123][Question Description = S2_qSNz_PG_BEN_Q23]
1. (I A, B 432 C [Option ID = 8489]

2. $(=Je B, C 42 D [Option ID = 8490]

3. (I C, D 32 A [Option ID = 8491]

4. P(:e1 D, A 43R B [Option ID = 8492]

Correct Answer :-

o F(-JT A, B 43¢ C [Option ID = 8489]
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[Question ID = 2124][Question Description = S2_qSNz_PG_BEN_Q24]

1. C, D, A, B [Option ID = 8493]

2. D, C, B, A [Option ID = 8494]

3. A, B, C, D [Option ID = 8495]

4. B, A, D, C [Option ID = 8496]

Correct Answer :-
e C, D, A, B[Option ID = 8493]
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[Question ID = 2125][Question Description = S2_qSNz_PG_BEN_Q25]
1.A-1IV,B-1ll,C-1l,D-1 [Option ID = 8497]

2.A-11,B-1Il,C-IV,D- | [Option ID = 8498]

3.A-1,B-1IV,C-1,D-Ill [Option ID = 8499]

4. A-1,B-1,C-1V,D-I1l [Option ID = 8500]

Correct Answer :-
e A-IV,B-Ill,C-Il,D-1 [Option ID = 8497]

26) NTHa (T *:fSore va fogog Trerfre 2oy ife =4 :

[Question ID = 2126][Question Description = S2_qSNz_PG_BEN_Q26]
1. STIAT fA™I2 IZS! TSI [Option ID = 8501]

2. SUSP B N A6 « fN&=T [Option ID = 8502]

3. fqte At Y@ fRz STN GRS [Option ID = 8503]

4. (G NS (1 S| [Option ID = 8504]

Correct Answer :-

o STIAT fAI2S I BUS [Option ID = 8501]
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[Question ID = 2127][Question Description = S2_qSNz_PG_BEN_Q27]
1. (MG TBT ST SICAMT Z(AS (@M ST [Option ID = 8505]

2. NI NI NFTO AT {2 N1 [Option ID = 8506]

3. SIfGerel (RN TYHOL6 AP FLGIBRA| [Option ID = 8507]

4. I N " N« FHRe | [Option ID = 8508]




Correct Answer :-
o (MG 96T | JCAMT Z(AS (@ TS| [Option ID = 8505]
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[Question ID = 2128][Question Description = S2_qSNz_PG_BEN_Q28]
1. Wf6q ST [Option ID = 8509]

2. QS Welry [Option ID = 8510]

3. (M WA FICG [Option ID = 8511]

4. qroIt« [Option ID = 8512]

Correct Answer :-
« 5K ST [Option ID = 8509]
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[Question ID = 2129][Question Description = S2_qSNz_PG_BEN_Q29]
1. (IS SST [Option ID = 8513]

2. 4SS [Option ID = 8514]

3. IIABAGET [Option ID = 8515]

4. FRTSFO! [Option ID = 8516]

Correct Answer :-

. (RSO SIHT [Option ID = 8513]
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[Question ID = 2130][Question Description = S2_qSNz_PG_BEN_Q30]
1. WISW [Option ID = 8517]

2. @9 [Option ID = 8518]

3. & [Option ID = 8519]

4. =f5Y4T [Option ID = 8520]

Correct Answer :-
e W[ [Option ID = 8517]
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[Question ID = 2131][Question Description = S2_qSNz_PG_BEN_Q31]
1. JUFH ; AFY W3RV [Option ID = 8521]

2. 5FIBGS A7 fN91S, TFIF [Option ID = 8522]

3. fRFIf® ©f}CITH 49 [Option ID = 8523]

4. 7 0y 5 G [Option ID = 8524]

Correct Answer :-



o JATFY ; AFH W=H A [Option ID = 8521]
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[Question ID = 2132][Question Description = S2_qSNz_PG_BEN_Q32]
1. G WIS [Option ID = 8525]

2. S ST&1 SIS [Option ID = 8526]

3. ¢ (¥ (¥ [Option ID = 8527]

4. ATP© Bl [Option ID = 8528]

Correct Answer :-
e Gie1 118 [Option ID = 8525]
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[Question ID = 2133][Question Description = S2_qSNz_PG_BEN_Q33]
1. FPNH [Option ID = 8529]

2. I TSN [Option ID = 8530]

3. AT AN [Option ID = 8531]

4. (3336 ©F [Option ID = 8532]

Correct Answer :-

o JIMINA [Option ID = 8529]
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AL F9 AFrS (IS TA:[Question ID = 2134][Question
Description = S2_qSNz_PG_BEN_Q34]

1. ST [Option ID = 8533]

2. IIRFAGE] [Option ID = 8534]

3. B HF@T [Option ID = 8535]
4, FARSOl [Option ID = 8536]

Correct Answer :-
o ST [Option ID = 8533]
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[Question ID = 2135][Question Description = S2_qSNz_PG_BEN_Q35]
1. bwoy I3 f3F [Option ID = 8537]

2. R3S » 55 5§ RIS 2 T [Option ID = 8538]

3. RIS » T @ RIS 2 15 [Option ID = 8539]

—

4. Bwo¥ 3R et [Option ID = 8540]




Correct Answer :-
. So¥ G2 {3 [Option ID = 8537]
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[Question ID = 2136][Question Description = S2_qSNz_PG_BEN_Q36]

1. W8T 8 Y& Tou2 f5F [Option ID = 8541]

2. WS 5 F® TS0 T [Option ID = 8542]

3. WS O [F@ (&0 f5 [Option ID = 8543]
4. TBT 8 Y& TwH2 © [Option ID = 8544]

Correct Answer :-

. WS & Y& Goz {5 [Option ID = 8541]
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[Question ID = 2137][Question Description = S2_qSNz_PG_BEN_Q37]
1. (I A, B 432 C [Option ID = 8545]
2. (41 B, C 432 D [Option ID = 8546]
3. (] C, D 432 E [Option ID = 8547]
4. (9 A, D 432 E [Option ID = 8548]

Correct Answer :-

o (I A, B 432 C [Option ID = 8545]
38) HFITE AT WYHATT NE FLAST QG- SZ NSIT (RS
e .
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[Question ID = 2138][Question Description = S2_qSNz_PG_BEN_Q38]
1. (] A, B 432 C [Option ID = 8549]

2. (3¢ B, C <2 D [Option ID = 8550]

3. (F31 C, D 43¢ E [Option ID = 8551]

4. (3 A, B 43¢ E [Option ID = 8552]

Correct Answer :-
e (PJeT A, B {<R C [Option ID = 8549]
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[Question ID = 2139][Question Description = S2_qSNz_PG_BEN_Q39]
1. (] A, B 432 C [Option ID = 8553]

2. (3¢ B, C <2 D [Option ID = 8554]

3. (9 A, C 3¢ E [Option ID = 8555]

4. (4 C, D 43¢ E [Option ID = 8556]

Correct Answer :-
o (P A, B 4<% C [Option ID = 8553]
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[Question ID = 2140][Question Description = S2_qSNz_PG_BEN_Q40]

1. (< A, B 433 C [Option ID = 8557]

2. (341 B, D 43¢ E [Option ID = 8558]

3. (4 C, D 432 E [Option ID = 8559]

4. (594 A, C 432 D [Option ID = 8560]

Correct Answer :-
e (PJT A, B 4]} C [Option ID = 8557]
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[Question ID = 2141][Question Description = S2_qSNz_PG_BEN_Q41]
1. TS5 [Option ID = 8561]

2. TSR [Option ID = 8562]

3. G4l [Option ID = 8563]

4, Wm%’r [Option ID = 8564]

Correct Answer :-

« WSS [Option ID = 8561]

42) SIS G SPIACT YIITHA IFO MG I TATF©
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[Question ID = 2142][Question Description = S2_qSNz_PG_BEN_Q42]
1. A, B, D, C [Option ID = 8565]

2. C, A, D, B [Option ID = 8566]

3.D, C, B, A[Option ID = 8567]

4.B, D, C, A [Option ID = 8568]

Correct Answer :-
e A, B, D, C [Option ID = 8565]
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[Question ID = 2143][Question Description = S2_qSNz_PG_BEN_Q43]

1. C, B, A, D [Option ID = 8569]

2. B, D, C, A [Option ID = 8570]

3.D, C, A, B [Option ID = 8571]

4. A, D, B, C [Option ID = 8572]

b

Correct Answer :-
e C, B, A, D [Option ID = 8569]



44) ST GHIOIT BT WYHATT AN OIfAHTH FHfIory ofgfie
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[Question ID = 2144][Question Description = S2_qSNz_PG_BEN_Q44]
1.A-1IV,B-1,C-1l, D - lll [Option ID = 8573]
2.A-11,B-1,C-1V,D - lll [Option ID = 8574]
3.A-1I,B-1ll,C-1V,D - | [Option ID = 8575]
4. A-1l,B-1,C-1V,D-I[Option ID = 8576]

Correct Answer :-

e A-IV,B-1,C-1l, D-1lll [Option ID = 8573]

45) N oy FeT g STt AT Srfdary afeg~w 8
Ao SIffiars Org I96T (R8T T | AN 432 ey eiferara Wy
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[Question ID = 2145][Question Description = S2_qSNz_PG_BEN_Q45]
1.A-1V,B-1ll, C-1,D- Il [Option ID = 8577]
2.A-1I,B-1,C-1V,D- Il [Option ID = 8578]
3.A-1l,B-1V,C-1,D-Ill [Option ID = 8579]
4.A-1IV,B-1,C-1l,D- Il [Option ID = 8580]

Correct Answer :-

e A-IV,B-1ll,C-1,D-1l[Option ID = 8577]
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[Question ID = 2146][Question Description = S2_qSNz_PG_BEN_Q46]
1. A, C &3¢ D [Option ID = 8581]

2. B, D {32 E [Option ID = 8582]

3. A, B 432 D [Option ID = 8583]

4. C, D 432 E [Option ID = 8584]

Correct Answer :-
e A, C 43 D [Option ID = 8581]
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[Question ID = 2147][Question Description = S2_qSNz_PG_BEN_Q47]
1.A-1V,B-1ll,C-1, D- Il [Option ID = 8585]

2.A-11,B-1V,C-1,D - lll [Option ID = 8586]

3.A-IV,B-1I,C-1I,D-1lll [Option ID = 8587]

4. A-1l,B-1V,C-Il, D -1 [Option ID = 8588]

Correct Answer :-
e A-IV,B-1ll,C-1, D-1l[Option ID = 8585]
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[Question ID = 2148][Question Description = S2_qSNz_PG_BEN_Q48]
1. B, E, C, D, A [Option ID = 8589]

2. A, C, D, B, E [Option ID = 8590]

3.C, A, D, B, E [Option ID = 8591]

4. E, A, B, C, D [Option ID = 8592]

M b

Correct Answer :-
e B, E, C, D, A [Option ID = 8589]
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[Question ID = 2149][Question Description = S2_qSNz_PG_BEN_Q49]
1. A, B, D, C [Option ID = 8593]

2. B, C, D, A [Option ID = 8594]

3.C, D, A, B [Option ID = 8595]

4.D, A, C, B [Option ID = 8596]

Correct Answer :-

« A, B, D, C [Option ID = 8593]
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[Question ID = 2150][Question Description = S2_qSNz_PG_BEN_Q50]
1. (9 A, B 432 D [Option ID = 8597]

2. (I C, D 433 E [Option ID = 8598]

3. (3 A, C 43¢ E [Option ID = 8599]

4. (9 B, D 432 E [Option ID = 8600]

Correct Answer :-



o (I A, B 42 D [Option ID = 8597]
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[Question ID = 2151][Question Description = S2_qSNz_PG_BEN_Q51]
1. AT [Option ID = 8601]

2. TS [Option ID = 8602]

3. & [Option ID = 8603]

4. fNI&= [Option ID = 8604]

Correct Answer :-
o ATV [Option ID = 8601]

52) AN OIAFIN FLAF® AT #1237 932 eIy orFary FAF6
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[Question ID = 2152][Question Description = S2_qSNz_PG_BEN_Q52]
1.A-1,B-1l,C-V, D-1V,E-I[Option ID = 8605]
2.A-1,B-1Il,C-1V, D-V,E- Il [Option ID = 8606]
3.A-1I,B-1I,C-1V, D-V,E - |[Option ID = 8607]
4. A-1,B-1,C-1IV, D-V,E - lll [Option ID = 8608]

Correct Answer :-

e A-Il,B-1ll,C-V, D-1IV,E- I [Option ID = 8605]
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[Question ID = 2153][Question Description = S2_qSNz_PG_BEN_Q53]
1.A-1l,B-1V,C-V,D-1, E- Il [Option ID = 8609]
2.A-11,B-1V,C-V,D-IlI, E-I[Option ID = 8610]
3.A-1,B-1V,C-V,D-1, E-lll [Option ID = 8611]
4. A-1,B-V,C-1IV,D-1,E- Il [Option ID = 8612]

Correct Answer :-

e A-UILB-IV,C-V,D-1, E- Il [Option ID = 8609]
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[Question ID = 2154][Question Description = S2_qSNz_PG_BEN_Q54]
1. ST & Y& Bwx2 {3 [Option ID = 8613]

2. TS 5 fF§ IS T [Option ID = 8614]

3. WSO G [F@ LSO 3 [Option ID = 8615]
4. YBJF 8 Y& GUAR @ [Option ID = 8616]

Correct Answer :-
. WS & Y& Gw2 {5 [Option ID = 8613]

55) "GTAMIE-AHNT NBIF GISTT IINXICIT I X:

[Question ID = 2155][Question Description = S2_qSNz_PG_BEN_Q55]
1. Q¢ [Option ID = 8617]
2. 90 [Option ID = 8618]
3. QX [Option ID = 8619]
4. 98 [Option ID = 8620]

Correct Answer :-
e Q¢ [Option ID = 8617]
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[Question ID = 2156][Question Description = S2_qSNz_PG_BEN_Q56]
1. (PJeT A, B <R C [Option ID = 8621]

2. (] B, D 43¢ E [Option ID = 8622]

3. (3 A, C G2 D [Option ID = 8623]

4. (9 B, C 432 D [Option ID = 8624]

Correct Answer :-

o (P A, B 4R C [Option ID = 8621]
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[Question ID = 2157][Question Description = S2_qSNz_PG_BEN_Q57]
1.A-1,B-1V,C-V,D-1,E- Il [Option ID = 8625]




2.A-11,B-1V,C-1,D-V,E - Ill [Option ID = 8626]
3.A-1,B-V,C-1,D-IV,E - Ill [Option ID = 8627]
4. A-1,B-1IV,C-1ll,D-V,E - | [Option ID = 8628]

Correct Answer :-
e A-lILB-IV,C-V,D-1,E- Il [Option ID = 8625]
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[Question ID = 2158][Question Description = S2_qSNz_PG_BEN_Q58]
1. B, C, A, D, E [Option ID = 8629]
2. B, A, C, D, E [Option ID = 8630]
3.D, C, A, E, B [Option ID = 8631]
4.B, A, E, D, C [Option ID = 8632]

)

Correct Answer :-

« B, C, A, D, E [Option ID = 8629]
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[Question ID = 2159][Question Description = S2_qSNz_PG_BEN_Q59]
1. (] A, B 432 C [Option ID = 8633]
2. (91 B, D <2 E [Option ID = 8634]
3. (941 A, D 43¢ E [Option ID = 8635]
4. (41 B, C 32 E [Option ID = 8636]

Correct Answer :-

o (FJ A, B 432 C [Option ID = 8633]

60) 'NIGTOF’ FIATYTEA ‘TSI WG’ FfJoIBd 6NN T:
[Question ID = 2160][Question Description = S2_qSNz_PG_BEN_Q60]



1. W% [Option ID = 8637]

2. COUGISICHT [Option ID = 8638]
3. *fSfNFOA [Option ID = 8639]
4. ECNIGT [Option ID = 8640]

Correct Answer :-

e R [Option ID = 8637]
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[Question ID = 2161][Question Description = S2_qSNz_PG_BEN_Q61]
1. Go¥ fI3f62 f3F [Option ID = 8641]

2. R3S » 75 5@ RIS 2 T [Option ID = 8642]

3. RS » T 5@ RIS 2 5 [Option ID = 8643]

4. 5wo¥ JM9R et [Option ID = 8644]

Correct Answer :-
. Tox 332 {5 [Option ID = 8641]

62) 4% 9FHT (NITHF ZMGIF NHT
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[Question ID = 2162][Question Description = S2_qSNz_PG_BEN_Q62]
1. AN (NS [Option ID = 8645]

2. ST 112 %3 [Option ID = 8646]

3. A1BF [Option ID = 8647]

4. (VAN Wel [Option ID = 8648]

Correct Answer :-

o AT (V1L [Option ID = 8645]
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[Question ID = 2163][Question Description = S2_qSNz_PG_BEN_Q63]

1. (I A, B 432 E [Option ID = 8649]

2. (9 A, C 432 D [Option ID = 8650]

3. (P]T A, D G E [Option ID = 8651]



4. (I B, C 42 D [Option ID = 8652]

Correct Answer :-
o (P A, B E<R E [Option ID = 8649]

64) @WWWWWWW
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[Question ID = 2164][Question Description = S2_qSNz_PG_BEN_Q64]
1. JeTHIN TGP [Option ID = 8653]

2. SIfFNGAY 6 [Option ID = 8654]

3. V<94 96 [Option ID = 8655]

4. INNTE T6F [Option ID = 8656]

Correct Answer :-
o J&T9IN TG [Option ID = 8653]
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[Question ID = 2165][Question Description = S2_qSNz_PG_BEN_Q65]
1. A-v,B-iv, C-ii, D-iii, E-i[Option ID = 8657]

2. A-iii,B-ii,C-iv, D-v, E-i[Option ID = 8658]

3. A-v, B-iii, C-ii, D-iv, E - i [Option ID = 8659]

4.A-1i,B-iv, C-ii, D-iii, E - v [Option ID = 8660]

Correct Answer :-
e A-v,B-iv, C-ii, D-iii, E-i[Option ID = 8657]
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[Question ID = 2166][Question Description = S2_qSNz_PG_BEN_Q66]

1. (I M [Option ID = 8661]

2. XTZ*( [Option ID = 8662]

3. FIEI [Option ID = 8663]

4. (IINIY [Option ID = 8664]

Correct Answer :-
o (JXJ[ qMM<p [Option ID = 8661]

67) TG FTASIG 137 (ST T:

A. IO

B. S[NIGT

c. fef=fe

D. NN

E. 99T

MG IO (T-IFHOTS AIFT *137 T1af (ATF Jors, (IS =
[Question ID = 2167][Question Description = S2_qSNz_PG_BEN_Q67]
1. (] A, B 432 E [Option ID = 8665]

2. (3¢ B, C <2 D [Option ID = 8666]

3. (94 C, D 32 E [Option ID = 8667]

4. (I A C G323 D [Option ID = 8668]

Correct Answer :-
o (PJeT A, B d<] E [Option ID = 8665]

68) 78T ©IY, WF JUIA G2 (Il TH VATS V¥ ATATCS ATfFH,
IOl 9F2 FATI”
"YSLTAT VBT (T SN YT 4N GITTF a2 FeA1, (2 SN0 T

[Question ID = 2168][Question Description = S2_qSNz_PG_BEN_Q68]
1. SN NI A9 AG (M] IV JTGF T [Option ID = 8669]
P DI GERY) () MRV (S
[Option ID = 8670]
3. WM (T Y 419 92 2(F 19 A,
1 I W =<2
[Option ID = 8671]
4. (OTd Fet Ny f[IFeT FAI 1|
BRI G RED RG]
[Option ID = 8672]

Correct Answer :-



o I WIS A9 AMG (M <RIV ATTF ACT | [Option ID = 8669]

69) "CNTSTEA-FRrrad ata

FY ATHIG 4fFT BB HROT HROTR-

MIFO NN LA §Or57 A"

SHYS FIAABTS (T WA FA® Wy, ife =4

[Question ID = 2169][Question Description = S2_qSNz_PG_BEN_Q69]

1. SFSTTN B&TFI [Option ID = 8673]

2. IBATOIB/OIRE G [Option ID = 8674]
3. ¥V [Option ID = 8675]
4. St [Option ID = 8676]

Correct Answer :-

o 2SI BT [Option ID = 8673]

70) I AN [ITGIGF FAT ITATGN HTISBB:

A. GIBd BTGNS, (TAN fIorStorer 8 SRIBIRa BTaR NIb6d
IECERIGH

B.WT*ITR BITGIG, (TN CHRIATHTR AT CHTTICA O |

C. 5fataa TrewifS, (TN AfASFSTR AT (ATATS MBS |

D. TFNF J[ITGIG, (TN WG AT 2FHG18 ABFH |

AET AT (ATF FIATOG AT WCATGND CHFLH 42 51 IS
Breaifoa fos @i wg [agfe ==

[Question ID = 2170][Question Description = S2_qSNz_PG_BEN_Q70]
1. B, A, C, D [Option ID = 8677]

2. A, D, C, B [Option ID = 8678]

3.C, D, B, A [Option ID = 8679]

4.8, C, A, D [Option ID = 8680]

Correct Answer :-
e B, A, C, D [Option ID = 8677]

Topic:- Bengali_SH2_set1_B

1) oa TAB (ATF AT ATH6 AT Tga fite za|

WONE TG TINITHRA T AT6T 933 AT<6roy Afex foqaara Yo oy
WIS — ATETAIFSa fgufass st erertey oz e
faNfaaora TRy 38 933 (@A ATICHNT S (ATF ToTE N |

MO BATRINA (TATLBIA ATTOT RIITE WU SFFYS V| NS
AT FfT WY TS TEFACST 8 A6 a8 Jfqa o= s
FOITAr — 9% TFIT FE WONF g WFIrfeng gfqre ared
AT GFLg ATOITeId 8FY FIFT AV |



AAFAYT ANIIAN PRI AFTAR FSTATANT Agfore SF A
AY FAAF AT oIS WSYTY AT FTATKN | IAHNTAT AT
BTF0T TN | WONF g IAT/ALT TqFaGINa FIIH(6 orfIw
fISIG FATYN | ITST (AT WA FIOIH TS GG A TOTATOIF
WSITHT VLT AT 1 =T SF I T 4T IF6 WINI IS
AT MGAfHITS fofv St NIy srerefd waE; 93
THNT (T YT (G ©id RIS 570y fFgmfaa | smarerafores
o=V 92 IS Y AP — AT 9o ATFoS [TV,
TISGIH, (NMZB, WCIF AR, 5, G 1w, g o) o
mwmﬂﬁ—mmzn WAl OJ W, 94y,
ﬂﬁmzﬁ%— ToIgel, A0ed OIFd Wi AJTH QY 8 WL
AAT/AAF BfITe SO Arsesra Fhrer a3s I sfataa s
fRACTTSITT STATo~T F471 AR | AT Fifercs a6 e
ST AT ARSI T0EF Wy 9+ fIvgfas wifs — (v 3@
¥ A1 A AfeFfosfers| o oIa e gfate S T *retsa
TR (AT TN QII=Te ToTa8, ATEIA (TGS
Iy, v anfaafesgere =g, SFF (@41, ©id a08d 32T, B
TS, V& PNITo, NEoTF [T AT I WAJFAT 92
R SAS WAIHA FHRA (FTH (T WSS LTS ATTSF Tl
YT foeafga admfogaaa Mg |

ANG TSI WYAACT |ITE 7fo IS mew =, I7 9o 1837 8
TWNIB O ATATS I

VFAT: AATNY ATETOTT THANG S Y I AT6TA O WiSYTY
g FEA|

If&: FET FIAF ATGHAfHTS TN cAfeTF= Fiferce a6

e v 1w Aater sl

Toaa 7o f3gfoa Afatafere Sitea Jstate fis Teafe ==

[Question ID = 2171][Question Description = S2_qSNz_PG_BEN_Q71]
1. W8T 8 Y& Toxz f5F [Option ID = 8681]

2. WS O F® IS0 T [Option ID = 8682]

3. TSN O T LSO 5 [Option ID = 8683]

4. TS 3 Y[& BONR el [Option ID = 8684]

Correct Answer :-

. WS 8 IS Gon2 {5 [Option ID = 8681]

2) ATEA TATHIG (ATF AT S! ATH® ATIA Bed fMite TJ|

TN T GINITHRN (T ATET J33 AT6reT Aifoa Taaara Yo “nAa7y
WTATTS — ATETdifed RANfas AT Arerter oY e



fanfasord G 98 A3 (@UF ATICHF TiF (AT WoT@ ™2 |
TGBATRING CTATLBIHN AT*ETOT FfITO WUV STHFf N NS
AGIYS T WY TITS 2TEFACST 18 A6 a8 7fIaq 1= vy
FfETTA’ — 9= TFIT FE WONSF g WNIrfens gfite aves
SRR CGHLa ATCIoIT 9FY FNIF I

AATNCAT ANIAIN I TFTe2 2 STATAT rgfors SgEfawT
AY FAAT AT ATEIAOT WIS IrqT FTATN | FIAH/NCLF 0T
BTFO! Y| WONF g IATALT FTqFaGNa FIIH6 rfw
IO FETIN| TS (FUF T FIOIHOTS GiF T TOIATOIT
WSITHT VLT AT T =T od T T AT I 0 WINI SN
@A TGS SN TFHTaN TNy WMo ", 933
THANT (T TUET G ©i7 RIS 5= Fgmfas| *marrasfores
o=lATN a2 JfISfF For Ao — Ao 9« A1Ffos Ty,
MTOTHA, (ARG, VI X141, H, A Tatag, f[gaFfo o2
T BSLANGT AGTS AN BIF (74T, WAl O, TNy,
AATHOW, Srelael, TS OIFT RTo JAJTH (AY 8 WU
AAGTAT Bt A ATIToa Fher 9432 AR sfataa s
fRCTTSITT StATo~T Fa71 AR | AfFTEn= Fiferce a6 e
ST VAT ARSI e Wiy g9+ fIvgfae iifo - (w g
W% A1 S AfeFfosi@re| oig onga fMasra gfdte Sf =T *retaa
ROTATAT (A8 RTHIAGITND QIS T61A8, ATHIT (VOIS
Ty, v Fnfaafesgee =g, OFF (@41, ©id a08d I3, B
TS, B PNITo, NRfSTE [T | AT I TAJFAT 92

TN GfFF TAIA AP (FT (T WIS YT ATSF W1
e focafge aqtmfogaaa Mg

MG SIS TTHAT L AT6T 8 ATCTST RfIF 5T T FLAIO
Q-8 TGAT TG (AT T:

A. SIS GATR TN (TATCBIY AT6TST RfITS WFFof VT

B. AT*ereldifed Bfd figwiias =, fGufgs|

C. AAT*6TOT RBIITS 2CHR NTOT & ATC6 it gfqa wfo T

D. T6T RfITE OIFT 7w € & (FU1F AT IO AT |

E. Sf 1 *rotad TN o6 refRory foga«ry Shw
FNfAHT orT Sy |

AW TTHLO (- fIFgore Ao T 87, e =
[Question ID = 2172][Question Description = S2_qSNz_PG_BEN_Q72]
1. (I A, C g3 D [Option ID = 8685]

2. (PJeT A, B 4R C [Option ID = 8686]

3. (1 B, C 43¢ E [Option ID = 8687]

4. (34 A, B 32 E [Option ID = 8688]

Correct Answer :-



o (I A, C 43¢ D [Option ID = 8685]

3) e T (ATF AT S! ATH® TN Bed fite (T

TN TG TINITHRA (T AT6T 933 AT<6roy Aifex foqaara Yo oy
WIS — ATEIAIFSa fgufass st 2rertey oz e
fanfaaera Ty 38 932 (@YU ATACHT S (AT ToTs e |

NS BATRING (TATLBIA AT6TOT RIITE WU SFFYA VT | NS
AGTS FfT WY TS TEFACST 8 A6 a8 Jfqa o= I
FOITA’ — 9% TFIT FE WONF Vg WAIrfeng gfqte ared
SRR L ATCIOIT $FY FIIF FE|

AIATNCAT ANITAIN I AFTEA2 2 STATAT gfors SHEfawT
AY FAAF AT OIS WSYTY AT FTATKN | IAHNTAT AT
STE0T AT | HONF g IAHANAT TIF G SISO N
fIOTOR FATZA | MO (FYF WA FIOIF BT GG I AT
TOTCA WLT AT 1 =TS I B 4T II0 WIAI SN
@I ATTGEHTS fofN SFHTaN TRy oI waE; 933
THNY (T ST LG ofq RIS 579 fgmfgas | rar=sored
oA~ 9% RIS T Ao — To 9o ATFfoF [TITIF,
TATGLEA, (AT, NYLIF *131F, A, IS T, f[rgasfo| o2
TS BQLATSd IMGTS A1 ©Oid (14T, WCAT O ¥, Iy,
ATATHNSB®, Telol, ATET OIFd WIfe JAqTFH (14 8 WU |

A G Bt AfS® AT Fhwer g3z AT sfataa A
fAeTTeng StareaTr F41 T | AfT Fifece oA ey
I N HIAH- RIS 7087 Wiy 9+ [egfas wfs — (v 3g
¥ A1 A AfoFfosftns| oia g e gfate Sf T *retsa
ORI (AT FTAHINGITNR QrIT=re T6Ta8, ATETE (GG
Ty, SN FsnfaafFgee =g, OFF (@41, ©id a08d I3, B
NTS, BF 2PNITS, ARFGTS | AT A TYFAT 92
NRQSEE TADHA FHR (T (T WSS WIS AT WToT
T forafge adufogaas s |

NG STAIT® TIYATA ATATFOToA [HHARIN 9% RIS oY
ATEBTA (TATN (AfG T

[Question ID = 2173][Question Description = S2_qSNz_PG_BEN_Q73]
1. AIGTEINT BT [Option ID = 8689]

2. ‘[T NGEANTS [Option ID = 8690]

3. ‘R’ ANIGEANT NI IAAOAPFATT [Option 1D = 8691]

4. (PG RGN [Option ID = 8692]




Correct Answer :-

« G f5ra [Option ID = 8689]

4) o TAITLAG (ATH AT 6! A6 ATNT Tad fite Ta|

TN TG TINITHRA (T AT6T 933 AT<oroy Afex foaa«ra e sy
WTATTS — ATeTdifed RANfas AT Arerter oy e
o Gy a8 933 (@Y1 ATICHNT S (ATF ToTq L |
TGBATRING CTATLBIHN AT*GTOT BT WUV SFFf T NS
ATGTHS FfT WY TS HFACST 8 A6 a8 Jfqa o= e
FO ITAT — 92 TFAT FE WS g WAoo gfdte aved
BAArTEa GRTg ATEITOId BFY JIIT AN

AATNCAT ANIAIN I TFTe2 2 STATAT rgfors SgENfawT
AY FAAF AT ATHTAOT WSYTY AT FTATKN | IAHNTAT AT
BT AT | |ONF g AT TTaFaoNIT FTIH(6 o
fISTO FETIN| TS (FUF T FIOIHOTS GF T FTOTATOIT
BrSITHF WYY AT T 1 ed W o IF9FH6 WINI O aHF
@I TGS fofN SFHTAN TRIIY WMo ", 933
THA (T ©L NG ©ia IS 5o fgmiigs | ar=foren
o=l a2 IS For Ao — are 9«1 N1Ffos TNy,
TTOTHA, (ARG, VI X141, H, A Tatag, f[gaFfo o2
T BQlArad AMGTS A OI (4T, ST O N, Iy,
ATATANSIB®, STrelgol, ATET OIFF Jife JIqTFH (14 8 W]

AN G Bfre AfS® ATITsa Fhwer g3: AT vfataa A
fRCTTSITT SItaATe~T F471 AR | AT Fiferce a6 e
ST AT AFH1-AAHIT I0EF W4y 9 fIegfas 9ifs — (Tuw 3T
W A1 A AfoFfosf@rs| o oIa MFaa gfate S =1 *retasa
ROTATAIT (A8 RTINGITND QIS T61A8, ATHIT (VOIS
|y, v FnfaafesgeTe =g, OFF (@417, ©id a08d 32T, B
TS, B PNITo, NRSTE [T | AT I AJFAT 92

TN BfFF TEIA NG (FTE (T WSS WYTS ATSF W1
e fcaige aqmfogaaa s

MG ST WYHATT N6 {fY MRS ST =4, T 9= TIaT 8
TWNIB O ACATS If&:

WIAT: ASIF A HJFAT 92 *HSE Wwdna fHgw oo
AAH/ACAR BT afoTT gl

If&: AAT N ©ig BfITo (A8 e eiN a3 Shv anfaafea
oorg fga|




ST 7ib fAgfoq AATYHre Itod Atwto 3 Gagalo ==
[Question ID = 2174][Question Description = S2_qSNz_PG_BEN_Q74]
1. WS 8 Y& Twouz {53 [Option ID = 8693]

2. TB/TG 3 5T (S @ [Option ID = 8694]

3. TSN O T LSO 5 [Option ID = 8695]

4. TS 3 Y[& BONR el [Option ID = 8696]

Correct Answer :-

. ST 8 I& Gon2 5 [Option ID = 8693]

5) NITHA TG (ATF HATO! AT O ATIT Sad e =TI

TN T GINITHRN (T AT6T J33 AT6reT Aifoa Taara Yo “nfay
WTEITe — ATeIAifod fRufas st srerer o J&e
famfasora Ty 38 932 (@UF ATACHT S (ATF ToTE |
TGBATRING (TATLBIHN AT*ETOT FfITS WO STHFf T NS
AGIS JfT WY TITS CEFACOT 18 A6 a8 gfaad 1= vy
FfE TTAT — 92 IV 0 WS g wiNarterna gfive aves
AN CHTa ATCIOIT 9FY FNHT I

AT ANFAIN FIFHET ASFTA2 2STATNT *rgfors wgfammn
AY FAAE AT AToTAIOT WFOYTL AT FLATKN | IIGNCLT AT
BTF0! Y| WONF g ITAAT FTqaFaGI~a FIIH6 orfIw
fISIGH FATYN | ITST (AT WA FIOIH TS GG AT TOTATOIF
TSI WYY AT T 8 od W T IF9FH6 WINI O 94T
AT TGS fofN SiBta NNy WrorsfI WFE; a3z
THAT (T LT ASF ©fq IS 5o fFgmia=s | smar=isfored
oBRRN 92 IS For A8 — Ao 97 ATFfoF [TANTT,
TISGIH, (AMZB, VLI <R, A, MG Tqrg, frgaso) o
TS SSLATS A IFGTS AT O (7T, STAT Uef N, Iy,
AATDOW, Srelael, TS OIFT RTo AJTH (A1 8 WU
AAT/AAF RfITe SO Arsesra Fhrer a3s ¥R sfataa s
fRCTTSITT StATe~T Fa71 AR | AT Fiferce Ffae e
ST AT ARSI e Wiy 9+ fIvgfae iifo - (w 3w
¥ A1 A AfoFfosfars| o oIa e gfate S 1 *retsa
ROTATANT (A8 RTHIAGITND QIS T61A8, ATHIT (OIS
Iy, Shtw anfaafesgme =g, SFF (@41, ©id a08d 32T, B
TS, V& PNITo, NEOTF [T AT I WAYFAT 92

MRS WA AR (BT (T WSS SIS AT Wl
e focafge aqmfogaaa Mg




G STAII™T BPATLA AT ATTGFAIHTO FIHAAF fogaad I
N

[Question ID = 2175][Question Description = S2_qSNz_PG_BEN_Q75]
1. WY SNG4 AR [Option 1D = 8697]

2. ATBIF (TGS [Option ID = 8698]

3. 908 OIFF Ifo [Option ID = 8699]

4. NTCIF I [Option ID = 8700]

Correct Answer :-
o WNIRY MGr3fF AIHTF [Option ID = 8697]

Topic:- Bengali_SH2_set1_C

1) "VTON NI GiINTT (qra NqTH AT FINCN?

'ATET 8 ATGTOT T3 SRYS I Of SO (KT AT (T VBT (YTF O
R

[Question ID = 2176][Question Description = S2_qSNz_PG_BEN_Q76]

1. G2 [ (T SToren [Option ID = 8701]

2. G121 [Option ID = 8702]

3. ST AF*N [Option ID = 8703]

4. I AfATLI QTG (&l [Option ID = 8704]

Correct Answer :-
o U2 {3 IC oren [Option ID = 8701]

2) "FHAT, Rt FH-WIAMN,

frsrtEa A=

TRYS FIAG (T HAFIAR HBIG (6 2T

[Question ID = 2177][Question Description = S2_qSNz_PG_BEN_Q77]

1. FOIQIfS [Option ID = 8705]
2. TN [Option ID = 8706]
3. WO#IT& [Option ID = 8707]
4. 19k [Option ID = 8708]

Correct Answer :-

+ FOIQIS [Option ID = 8705]

3) GINTS CATCHAT T 79T, 130 Srod|

TFITT ST Y, AT 43|

51 A AT * NBLF 2 TAT AR

[Question ID = 2178][Question Description = S2_qSNz_PG_BEN_Q78]
1. 4w [Option ID = 8709]

2. 9<4(1q [Option ID = 8710]

3. (=™ [Option ID = 8711]



4. 9ISt [Option ID = 8712]

Correct Answer :-
e J99 [Option ID = 8709]

4) FFGIMA ANTTCIT ATSN YA Q-GN INTRTIT G
TAR:

[Question ID = 2179][Question Description = S2_qSNz_PG_BEN_Q79]
1. SHS YN AN [Option ID = 8713]

2. W3B 5T FC [Option ID = 8714]

3. QTS FCY [Option ID = 8715]

4. STEEIS Sc [Option ID = 8716]

Correct Answer :-
o IFHI Y[ FC [Option ID = 8713]

5) "BLHE A FIIT TOIT LT TG JUI (ATF (T Vg [For91fo
AT &N W TSN FLAMGLA, ©F T

[Question ID = 2180][Question Description = S2_qSNz_PG_BEN_Q80]
1. &Q1X [Option ID = 8717]

2. IR [Option ID = 8718]

3. UIBHA [Option ID = 8719]

4. Q] [Option ID = 8720]

Correct Answer :-
e IR [Option ID = 8717]

6) FRTATTAT FYT WAV FIATYE AFITS O (T Af G
ife ==

[Question ID = 2181][Question Description = S2_qSNz_PG_BEN_Q81]
1. A{fNT [Option ID = 8721]

2. WIe128 [Option ID = 8722]

3. It [Option ID = 8723]

4. Iz SIS [Option ID = 8724]

Correct Answer :-

o {9 [Option ID = 8721]

7) IO 522 (MNT'- ZLOTT TG NF¥T SIHATT ST

[Question ID = 2182][Question Description = S2_qSNz_PG_BEN_Q82]
1. ARCATGINS (T RIR [Option ID = 8725]

2. W1 (PAF A [Option ID = 8726]

3. (IR ((ITNF ' V7S NGO ZAH-WATI2 [Option ID = 8727]

4. (5N1<T NfE(HF (RLeid fIQ1R [Option ID = 8728]




Correct Answer :-
o N(ATGINT (BT ITR [Option ID = 8725]

8) 'R WA TGN LT AT gf® JH 6T WA SR *137-
THRTIIRE HHAIST N6TF 92 AN IR :

[Question ID = 2183][Question Description = S2_qSNz_PG_BEN_Q83]
1. 51573 [Option ID = 8729]

2. fTo@<sd [Option ID = 8730]

3. GIII~T [Option ID = 8731]

4. 1T [Option ID = 8732]

Correct Answer :-

« 75151 [Option ID = 8729]

9) HOIINZ ROIALP SG-505 (RTAN I’
G GAIT Ol BANITT SYHAATT G2 O ICA:
[Question ID = 2184][Question Description = S2_qSNz_PG_BEN_Q84]

1. ST & WYNIA [Option ID = 8733]

2. QG 8 MITNMA FTN [Option ID = 8734]

3. N VTN 8 PN F™AN [Option ID = 8735]
4. fof9GF & NCWma! [Option ID = 8736]

Correct Answer :-

o QfNFET 8 WGNIA [Option ID = 8733]

10) "GIR-TAT ATF SAFIHR SUHT W comfesfae arafife
AAFFATAR W AT R qiq o1 BT cvry, N zte=:
[Question ID = 2185][Question Description = S2_qSNz_PG_BEN_Q85]

1. BIZ| [Option ID = 8737]
2. ISV [Option ID = 8738]

3. YT [Option ID = 8739]
4. PIGA0I [Option ID = 8740]

Correct Answer :-

o BIZSH [Option ID = 8737]

11) BIRIIFT YTV vpIod "TEIH-99 I TF 0’ 58 wrewe=r
WS YA AT57 (F AH Niwnt Ffere Teaige 1afea I ite crewr
e
A. TN
B. (OTITS!

C. faomer

D. Y

E. RISTIYS

Noa W TF© (AF 57 U w7 [FH0 ==



[Question ID = 2186][Question Description = S2_qSNz_PG_BEN_Q86]
1. C, E, A ,D, B [Option ID = 8741]
2. B, E, C, A, D [Option ID = 8742]
3.D, A E, C, B [Option ID = 8743]
4.B, D, A, E, C [Option ID = 8744]

Correct Answer :-

« C,E, A,D, B [Option ID = 8741]
12) "G’ BIFYZ WPAALT NTE FIIF6 VG- 8 TFIT (RS
R
A. Ife FTor IS o7 aForar Ry IR FHreEsmga sam|
B. '07F fofd FfIory s WSt atsifga Iifdem cas|
C. AT BITOTT INFATIE FITH ANS ST (GIfFTO GO
GRS G ICGRIUEE]
D. "WIIfS FITOTT WIHS FACTHA STRISF- JIHIF RN =Ty
ATSH|

=

AN TTHLO (- fIFgore Ao T &7, e =
[Question ID = 2187][Question Description = S2_qSNz_PG_BEN_Q87]
1. (P]T A, B 4<R D [Option ID = 8745]
2. (PIT C, D 4R E [Option ID = 8746]
3. (31 B, C 43¢ D [Option ID = 8747]
4. (I A, C 32 E [Option ID = 8748]

Correct Answer :-
e (BJeT A, B d<] D [Option ID = 8745]

13) AT BN WIAF THYAF *rass aipe P foasag
Wi FTASO oraa oIfdaT e FST z:

A. SHINT JOATZAT

B. WfONJ-Oedl

C. Jaw-GrJt

D. FNAATI

E. IHFI-YAF

Mea e (WS 3% Hua g [ HT ==

[Question ID = 2188][Question Description = S2_qSNz_PG_BEN_Q88]
1. A, B, D, E, C [Option ID = 8749]

2. B, E, D, A, C [Option ID = 8750]

3.D,C, A, E, B [Option ID = 8751]

4. C, B, E, A, D [Option ID = 8752]

)

Correct Answer :-
e A B, D, E, C[Option ID = 8749]



14) TG ATGIZN BT (YTF FIAF O FUNF SIHY AT X
A. Frgrers syone fAifaa

B. FMIT® JOTd ¢y fif3a

C. TYATT AT FHif3a

D. fifSrararwa Folx

E. CYYTAT ATIM- F56

Mea e (A 3% Hua g [ HT ==

[Question ID = 2189][Question Description = S2_qSNz_PG_BEN_Q89]
1. B, C, A, E, D [Option ID = 8753]

2. C, D, E, A, B [Option ID = 8754]

3.D, B, C, A, E [Option ID = 8755]

4. C, A, B, E, D [Option ID = 8756]

)

Correct Answer :-

e B,C, A, E, D[Option ID = 8753]

15) NTE TS 9F6 AT T TANITH WIAFH LTI 6 OG-
Y/ WFIT (MSHT R

A. SNfAF TEZFTOIA GINT ATGIH FICATT NTHF WATST ST |

B. (YT VRITS WHFAE THITN FITATIFT (IATAF (NI 61T 0w
b CERIGIRIET

C. FTRIYLA (Y1 NITAT BISTN HF NTATCRF (6T I |

D. OItHA VAT SIfATY FIMLAF ATGTS YT XL A G|

R |

oAMg HTATe (T-TFgore I ® TIAT ©F, e =
[Question ID = 2190][Question Description = S2_qSNz_PG_BEN_Q90]
1. (P]T A, D E<R E [Option ID = 8757]

2. (<< B, D 4<¢ E [Option ID = 8758]

3. (k<1 B,C <} D [Option ID = 8759]

4. (I A, B G2 D [Option ID = 8760]

Correct Answer :-
e (PJT A, D 4R E [Option ID = 8757]
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D. ATAIRT OIS WYFF WY Mall
ANG IO 3% BQlad [IFHIB T

[Question ID = 2191][Question Description = S2_qSNz_PG_BEN_Q91]
1.A-1I,B -1V, C-1,D - Il [Option ID = 8761]
2.A-1,B-1l,C-1V,D - | [Option ID = 8762]
3.A-IV,B-1ll,C-1l,D-1[Option ID = 8763]
4. A-11,B-1V,C-1,D- Il [Option ID = 8764]

Correct Answer :-
e« A-NIl,B-1V,C-1,D - Il [Option ID = 8761]
17) TG INHTAT ATST 1] WIHAACT FTAI O UF-NSZ TSIV (RS
Re:
A. (TIAIF GBI fIFPIE eI TINITS NITHIF ST ST
IASNIGT ATATRA |
B. famjarga aifSts far e «fe fiw|
C. 99 (ST HLoT ¥fea aF61 IR R Y=g I
D. B2 AT FfSa T N T8 TF FIFT ALYIAFA (R [IAza
O |
E. T AT fg S argna [ @awrar sz
AMg IO (T-fIFHoTe 73T TIT ©F, e =
[Question ID = 2192][Question Description = S2_qSNz_PG_BEN_Q92]
1. (<1 A, C 432 D [Option ID = 8765]
2. (P B, C 4R E [Option ID = 8766]
3. (] A, B 3¢ E [Option ID = 8767]
4. (31 B, C 432 D [Option ID = 8768]

Correct Answer :-

o (P A, C 43¢ D [Option ID = 8765]
18) N ATET ANAF NN AJLFH IFIAFC WZ-WASF NG (RS
e .
A. STOTHNTY JFHF Sbr¢ ¢ A SGIANIN AT FHITT TN O
AT FE
B. WY T4N TN AR O AFITS TR ©4N
Af G TS [Qra~ J&EaoH ST
C. "TIfRTST IrBIOT MHAF AT YCATATLINCTS T6~16
TIOATT D AN IF W LI AFIre TR |
D. BN ATFHII GIINTH AT (FIAT FIIO12 AFIre TN



E. HAWATTNF "HIO-HAHAT "IN ATGIIT Y90 JATNF T TTH
AFIre THI

AMg AT Te (T-fIFgiore 3P TIaT ©g, 5o =
[Question ID = 2193][Question Description = S2_qSNz_PG_BEN_Q93]
1. (T A, B 42 D [Option ID = 8769]

2. (] B, C 4<2 D [Option ID = 8770]

3. (e B, C 43¢ E [Option ID = 8771]

4, (4T A, C 433 E [Option ID = 8772]

Correct Answer :-

e (PJT A, B IR D [Option ID = 8769]

19) "GEOHIA S TANIIT WYHATT AN OIfeHI9 I&T 8 figeiw
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c.oaarg TR (AT (AT 494N TN WOIGIAd Oy 99
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[Question ID = 2194][Question Description = S2_qSNz_PG_BEN_Q94]
1.A-1l,B-1V,C-1,D- Ill [Option ID = 8773]
2.A-1,B-1,C-1V,D- Il [Option ID = 8774]
3.A-1I,B-1IV,C-1l,D-I[Option ID = 8775]
4. A-IV,B-1,C-1l,D- Il [Option ID = 8776]

Correct Answer :-
e A-I,B-1V,C-1,D-Illl [Option ID = 8773]

20) IFTETHA ' TS 8 T qIFH ST o 7o [GFS
(RS T, T 9F(6 WGAT 8 W6 O ATATT IfS:

WFAT: GIHTALIF FITOl OSTH FUNAGIATNIGS, [TRFNFA, T
AR Jwa @R T=ifoa FfTer mamfis @srast

SANTTGHT Thl |
If&: (F1 TOTHR ATFOF MOTF WYY WJIIF FIN B0
S #fE Fra=|

Totaa 5o fIgfoa aAfarafirre Stea sstate 5 Teal® ==
[Question ID = 2195][Question Description = S2_qSNz_PG_BEN_Q95]

1. WS 8 Y& Swx2 {5 [Option ID = 8777]
2. TS 5 F® IS T [Option ID = 8778]



3. WSH6 w0 (B S0 15 [Option ID = 8779]
4. TSI 8 Y& BoA=2 e [Option ID = 8780]

Correct Answer :-

. WS & Y& Goz {5 [Option ID = 8777]

Topic:- Bengali_SH2_set1_D

1) RTE 9T T (RS I 1 9aT 0! VST Tga aB =T
WIAF N FACO X3

S TFT WY T2TO2 W N 2 N Offro 229,'q G A2
& Ffaqra2w i3 Ffare TrvTs Giaw 23192 Ged dfomfy

' og- 49 I T Fregra oAfS wFa 92 Sfga way aIgweH
BLBIANTLITHR W7 [R$a Frwd @y IF3es was oy
/ST GIIF ST fF T8 Bfo® (T2 WITATe-T 25707 fofN e,
@I, (F1§ 33 TfFF 2Arronf Rda Frarg fSgaT 932 Mo
TNG; (T2 T TR (P ITGJTATY - CA¥TNTOBT CTATTN CRITATH SAT4T |
AT, IrTa=, S0, BN 933 FICHAT 6T IFNGTHT AGT
f&eT1 IRTA FEBTLTATT SIATELY TelF A3 THALA Ford 7o (Fie-
g7 NRIFOrT 43 8 Aorwam! wag IS *rotaa fgeiuny I 5g
AEH IFGIA (FI-9F WX WP T ZTCAGLAN, I Tha VLT

(AT HGT (F1F Qe AFTeras 9 35 1R~ 4xf 8 vwoiy
WWWWWWm%ﬁFWWﬂW
(FTE-99 TOIM AWLA SYRI© AR IIFICTHT FUAIINIT WI -
I SINIE UV TN fHAT AATSIBICH O S AT TGN
(F18- 97 OTGA AN THNT ST AT Jfeam g oia fosr 8
TWYGfod 936 fITTT Tt = rf Fare *mafv iy oS
AN AP S THFHOTNY ARG SARES 933 IFeo~E
faf%fSa CFIfTArT Srtna STEATIeT $fNST (Rt W T 92
T ofa T yoranfYs G147 BT i NFAAS Ao FATS
(O (O ITATR, FIAINY WG SR VLT IF G | IQNOTS
IIFTOTHA 2fSTHEET N TS RFAN A3 932 @S 1y TOTF
RTA1a fSTHT BAF T (AT GiadnId Yo fIges ol arastaq
TG 2T FATKN [ NANITOTOIT WS T=NF (FAfHa Toqthg
VOITod AN Hd OIAtod WIEHHF fofv a3 foqydTt amam
ATt | et STarToE wiFeag oS sreid o I T0uRe
BT NI A6 ST ' YT S orFIfore swer fIgus o @y N
O, G2 JIgs, AN, HIATF, AF4T 932 a7 Seafisa oraq
fora MTITRN | IFCATTT FIF' AIFH0F FAT I FAT (IS AA|
% mﬁm ‘Nerofr (& fSfN I Uncle Tom's Cabin I



2T FLAREAN [ YRS g 8 WS T30 W@ «ire
HA1F O o~ fiteg Ty 4| Iy Wﬁ—mgﬂﬁa‘fﬁﬁ
AGNIGTS IFNoH AEA NN Frerasn, J-Jt3q taw
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[Question ID = 2196][Question Description = S2_qSNz_PG_BEN_Q96]
1. (1§ [Option ID = 8783]

2. BT [Option ID = 8784]

3. T/ [Option ID = 8781]

4. (I [Option ID = 8782]

Correct Answer :-
o T30 [Option ID = 8781]
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ANTE AFO TR (RS I | HFTO! ST Tad 93 TS
WIAFN FACO X3

IS ©HT TIZT T2TO2 WNE W J2 N Bffie 229, 'q G A2
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'Iog -7 I LT Feara AfS wFa a2 Sfea vty IfFTeH
BTN SIrgnRa fRge Frea oy IFffFe was o
/ST GIIT Sip*1T i 871 Bfo® (12 WITATH~T o515y fofN e,
(@I, (F1§ a32 S Ao AT Frare *nfS=7 933 Mo
BoI; (T2 ST WY (RITTATY -(PTNTOBT (TUTN (AT ST147 |
TR, I, 0, BUAN 933 FICHAT I67T AFNOTHS ATT
et 1 IFFTTA FESTLATT FAITETT ToIT 932 AR oI R (Fis-
I NRfIFOra 43 8 FOTFHAT W IS *rotwa figerany (I 511
AEIH FFGIA (FI-99 WX WIFT ZCAGLAN, I Tha VLT
CITIH/EH (AT e~ I uorHa IS 35 1iZ5 43f 8 srery
mmwwfﬁ‘wmﬂ%mﬁz;@— STHY AT
(18- 49 TSN AW 521 TR [IFIETHT FAAIIT Y-
g9 SINIE NN TN fHA1 NATSIBICA O B ATHING S TGN
(F1R- 97 OLGA A THNTIO1F AT Jegam fFg oia fogr 8
TYgiod 930 fTTTT Grasns = Fare a1y fsfe
AN WP D TFAOHAF AQITAITHE SAETS 933 AFBo~E
faf%fSa CFIfTArT Srtna STEATIeT NS (Rt W T 92



g1 O TR FortAfde e 199 GTT oI NfFiES ernaq 18
(T (FO ITEATKN, FIAINIY TG OITAE VLT 4T O I IZIOTS
IFTCTHA 2fSTHAEET YN J=TSF R~ A3 933 @fF I1yre1H
AT 2fSRITIT BT (T (RTAIF GiaI]Md A1k fTaee fofv arataa
g A2V FEATKN I[WE NAIAGTOIT WYNS A= (FAFa Toqha
VOITod ANFY F1d OIAted WIHINd fofv g forgTt aman
ATITEN | Arren STNITEE WIeItas AfS reia Yo 5w TR
SIF VAT TGN I'SNT ' YT SEIHe Aol fIgws ok @y o
O, R JIgs, AT, BT, AF4r 932 Ntaa Seafisa otaq
o fATItE | IFATTIT FIF AIFH0F FAT IV FAT (IS ANA|
I T3 g emsfr @ f$fF A5 Uncle Tom's Cabin T
FISHAT FLATRCAN [WF TYAF TNY 8 WAINTS 70w wIHiT re
FA1F G fofv e g A I g aFifrogw Zmt e
nAFAT Tonf% f{IFCT Ntaa Tomtes Uod fIeTy ewyg Mrarg~|
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ATF T Ol GV 8 AR OTSIINTT 5% F4T TH|
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[Question ID = 2197][Question Description = S2_qSNz_PG_BEN_Q97]
1.A,B,E,D, C

[Option ID = 8785]
2.B,C,E,A,D

[Option ID = 8786]
3.D,B,E, A, C.

[Option ID = 8787]
4. C, E, B, D, A.

[Option ID = 8788]

Correct Answer :-
e AJB,E,D,C



[Option ID = 8785]

3)

NTE 9B T (RS TT T I /aTo! ST Tgq 9 ST
WIAF N FACO X3

S TFT WIFI T2TO2 WA N I3 N Offroe 229,'q G A2
& Ffaarazw S Ffare TS Gl 23132 Sed oyl
'Ifog- 49 I T PFregra ofS e 92 Sfga way IgweH
BLEIATLITNT WGRA7 N9 v Wy IFI3Fe WAy
ST GIIF ST {F TSI Sf5® 12 WITATeAT oy Tey fofv e,
(@I, (i 432 Fifea smmenf Rda starg nf8r 933 Moo=
BOIF; (T2 ST WY (AITLATY -(TNTOHT (TUTN (R SAT147 |
CTFATE, IrTa=, S0, BN 433 FICHTAT 61 IFNGTHT ACT
o1 ARTIA CITLETT FICHTT Told g2 AT Ford R (Fis-
g9 NNIIForT 43 8 FAOTHATAl wxa IS *retsa figermy (733
J/EI IFONA (FIS-97 PN WHE TCNGAN, ©ITHa TTLT
CATTAGF (F1F Qe AFTeras 9 35 1R~ 4xf 8 wwoiw
NG IrT I fofFe FaiEe cyfita S Aanies Stgy AFT
(FTE-a9 TOIM AWLA SJRI© AR IIFICTHT " FUAIINIT WI -
g7 SNIF TN AN fF23AT ATITSIBICA O AT E TGN
(F18- 97 BTG Ol THNTIO1F AT Jfgam g oia fosr 8
TWYGfod 936 fITTT Gt = rf Fare *mafv iy oS
AT WCANPS FAOPTAH AHATHT BAES 932 AF oS
faf%fSa CIFIfTArT SIitwa STty $fNST (RTY W T 92
st ofa T wetafYe fge 197 BT ©IF MRS FonId FATS
(T (FO ITEATKN, FIANIY B OITA VLT 4T O | IZIOT8

I TCTHA 2STHAEET LN F=TSF R~ 3 933 @ F 1yre18
AT 2FSRITIT BT (T (RTAIE GiaI]rd A1k faee fof arataa
TG JZT FLATKN IEF NNITOTOIT WS F=F (@AfFa Toqrma
WOITed ANFY Fd OIAtod WIIEHHF fof¥ aa foqydTt amam
ATITEN | Arren STt WIeIas oS reia Yo e TR
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o MTITRN | IHATTT FIF' AIFH0F FAT LI FAT (IS A |
I A3 g emsfr & f$fF A15R Uncle Tom's Cabin T
FIHT FLARZTAN [WF TYAF ITPNY 8 WAANS 7700 W@ Hie re
FA1F G fofv e g A I g aFifrogw §mt e
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[Question ID = 2198][Question Description = S2_qSNz_PG_BEN_Q98]
(CCHAEE|ICEAPES

[Option ID = 8789]

2. RS s 5 g RJo 2 g

[Option ID = 8790]

3. RS » g1 g 3o 2 B

[Option ID = 8791]
4. Sw¥ JYfoR we

[Option ID = 8792]

Correct Answer :-

. To¥ RJFOR o

[Option ID = 8789]
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TWYGfod 936 fRTTT Tt = rf Fare *mafv i oS
AN AP S THFHOT™NT FANTHIThE SARES 933 IFeo~E
faf%fSa CFIfTArT OIitha STEHATIT $iNST (T T T 92
st o1 TR Herfs 5197 TSt ©oIg NIRRT renIa FA18
(T (FO ITEATKN, FIANIY TG OITAT VLT 4T O | IZIOTS
IFTCTHA 2STHAEET YN J=TSF R~ A5 933 @fF 19re1H
AT 2fSRITIT BT (T (RTAIF GiAI]Md Hoi] fgee fof arataa
TG 2T AT [ NANITOTOIT WS T=NF (FAfHa Toqthg
WOINTed ANFY Hd OIAtod WIEHHF fof¥ aa foqyT amam
ATt | et STaIToE wiFeag oS sreid g v 0uRE
SIF VAT TGN I'SNT ' YT SEIHe Aol fIgws fIom @y o
O, R JIgs, AN, BT, AF4T 932 a7 Seafisa otaq
o MTITRN | IHFATTT FIF' AIFH0F FAT LI FAT (IS A
I A3 g Semsfr & f$fF A15eR Uncle Tom's Cabin T
FIHT FLARZTAN [WF WYAF TNY 8 WAINS 700 W@ HiT re
FA1F G fofv e g A I g aFfrogw §mt e
nAFAT Ton% f{FFCT Ntaa Tomes UoF Ty ewy Mg
O OIFeIY JTO%T WA VAT TomTa W4T JF 6T JZVT-IHHA
ATFT i G~ 8 AfXSTSIINTT 756 F41 TH|

MG ST WYAATT N6 {E fIIFS ST =4, T4 9 TSaT 8
NI O ACHNTH IfS:

WSFAT: CTH AT, IrTaeT, S0, BTN 61 IR NoTHa *ror {71

IS (@1 ©ia IS TANHT SYo~1w fSN qtha To1a TRylS
JTIZNE FLARPLAN|

Sortaa ufe fI3fea aAfacafiere Moa Jstate 5w Seafe z=:

[Question ID = 2199][Question Description = S2_qSNz_PG_BEN_Q99]
1. TS 8 Y& Soxi 3



[Option ID = 8793]

2. TS 5 8 T[S0 o

[Option ID = 8794]

3. W6 g1 5 (&0 o

[Option ID = 8795]
4. TS & Y[ SR gl

[Option ID = 8796]

Correct Answer :-

. WS 8 IF Tovz b
[Option ID = 8793]
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@I, (F1§ a32 Jfea Ao fA$a Frarg *nfS=7 933 Mo
Bo; (T2 ST WY (RITTATY -(PTNTOBT (TUTN (R SAT4T|
AT, I, S0, BN 933 FITHAF T67T AFNOTHT ATT
o1 IFTIA FOBTLATT FAITHT ol 932 AR FeF R Fis-
I NRfIFOrT 43 8 AOTFHAM W IS *rotwa figerany (I 517
AEIH IFGIA (F18-97 PN WHE TCAGLAN, SITha LT
CATTrEER (T R AFToraa 9 S 35177 axf 8 vy
WWqWWWCﬁ%ﬁPWWﬂW
(18- 49 TSN ATWLA 521 TR [IFIETH FAAIIT NPT~
g7 SINIE UV TN fHAT NATSIBICHA O B ATHIGF TGN
(F1R- 97 OLGA A THNTIO1F AR Jeam fFg oia fogr 8
TYwlod aFB fOTT T e Fare a1 AfS®
SANICH AP S FAOPTHNT JANTHITRE SHAES 933 IFoG~E
fafEfSa CFITAT Srtwa STEHATIIT SIS (AT T T 92
gt ot T BotAIfYs 5197 B8t ©i7 NfFafas Jenag FA18
(TG (O ICACYA, FANY Hg OITHd NTHT IF OV | AZTOTS

IF TR 2SSO ET A4 T2NS RTA~ IFe 933 @AfF 19rers
T ST BANF T (AT Gia1dnd Yo fIaee fof qrastea
g IV FEAKN W NAIASTOIT WYS A=F (FAFa Toqna
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ATt | Aot STaItoE wiFeag oS sreid o I T0uRE
B VAT FENIT ST YT SEIHe Aver fIaws foa @y 5N
O, G2 JIgs, AT, BIATF, AF4T 932 a7 SeafiFa otaq
o fATItg | IFATTT FIF AIFH0F FAT IV FAT (IS ANA|
Zﬁmﬁm "Jeefr (& SN IISHTT Uncle Tom's Cabin JTA
FIHT FLATZTAN [WF YT TNY 8 WAANS 0 WIHRT re
T Gy FOf fiitera g 4t IR g aFrogm gars e
AAFAT TONh fIT0T Nt Tormres $oF v ey facarg|
©F OIFey 2fSzT Wra TSATAT Tomefa T4y 9FBT JTV-IT
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A. GiIIerAE fRfitey  f3e, (@3w-a3 Aot Ifgwew nfe«r 8
MNora Toae N9 Ftargy

B. I NGTHA TN I FANY WG (F1S-A7 O AfF® fRraa=~|
c. IFToT Ifeant JCEAR ©IF SN WS F ol Aol
D. ATOTFH (MT1F 2SI BT GednId Hwoid gty Iy Irstaq
O IV FLAQLAN|

E. "SI W' AGNIBTS (F18- A OIANF AfSHAN (BITy ATT |
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[Question ID = 2200][Question Description = S2_qSNz_PG_BEN_Q100]
1. (PIT A, B9 D

[Option ID = 8797]
2. (1B, C 4k D

[Option ID = 8798]
3. (T A, D G E

[Option ID = 8799]
4. (PIEC, D URE

[Option ID = 8800]
Correct Answer :-
e (FFTA, BIRRD
[Option ID = 8797]

Topic:- GP8_D1_SH2_Set2_A



1) Study the table and answer the following questions based on it.

The following table gives the percentage of marks obtained by 7 students
in 5 different subjects in an examination. (The maximum marks in a
subject is 100.)

Sub1 | Sub2 | Sub3 | Sub4 | Sub5

Student1 40 45 55 65 70

Student2 60 70 75 65 60

Student3 70 74 64 68 72

Student4 50 75 57 65 62

Student5 61 66 72 58 60

Studenté6 70 65 68 56 78

Student?7 65 45 70 52 58

ATIPT BT ATYT B 3R 7 R YT Ul & I <

frgifea aifere & we gdien # 5 fafta fawal & 7 faenRiaY gr1 ura fee
T8 3P B yfaeradar & i g1

U faug &1 3iftedan 3 100 g1

fawyg - 1fawy - 2fawy - 3fawa - 4fqwa - 5

faemadt-11 40 45 55 65 70

faemdt- 2 60 70 75 65 60

faemdt-3 70 74 64 68 72

faendf-4 50 75 57 65 62

faendt-5 61 66 72 58 60

faendt-6 70 65 68 56 78

fendf-7 65 45 70 52 58

Find out the percentage of students, whose average marks is more than
60%.

60 % Ufa=ra A 3IfUe YT 3ic arel B B YTI=IadT Jd BN :

[Question ID = 1901][Question Description = S2_qSNz_PG_GP8_Q01]
1. 55



[Option ID = 7601]
2.71.42

[Option ID = 7602]
3. 85.7

[Option ID = 7603]
4. 63.4

[Option ID = 7604]
Correct Answer :-
e 55

[Option ID = 7601]

2) Study the table and answer the following questions based on it.

The following table gives the percentage of marks obtained by 7 students
in 5 different subjects in an examination.

(The maximum marks in a subject is 100.)

Subl | Sub2 | Sub3 | Sub4 | Sub5
Student1 40 45 55 65 70
Student2 60 70 75 65 60
Student3 70 74 64 68 72
Student4 50 75 57 65 62
Student5 61 66 72 58 60
Student6 70 65 68 56 78
Student? 65 45 70 52 58

ATfeTeRT BT AT B 3R 5T TR MUTRT ULl & IR ¢

fawifed arfereT & wer wdtem & 5 fafia fawat & 7 faenRay grT yra feg
MY 3P B yfaeradr & i g1

TS fawd &1 3fiean 3% 100 2|

fawg - 1fqw - 2fdwg - 3fawa - 4fqwy - 5

faendf-1| 40 45 55 65 70

faendf- 2 60 70 75 65 60

fqemdf-3 70 74 64 68 72

faendf -4 50 75 57 65 62

faemdf-5 61 66 72 58 60




df-6 70 65 68 56 78

Find out the ratio between the student having the highest total marks and
the student having the lowest total marks

f¥rpan oo o aral faenff ok ~gaaw Fa o arat faendf & dta &1
ST Ut B -

[Question ID = 1902][Question Description = S2_qSNz_PG_GP8_Q02]
1. 348/275

[Option ID = 7605]
2. 309/290

[Option ID = 7606]
3. 317/309

[Option ID = 7607]
4. 330/290

[Option ID = 7608]
Correct Answer :-
e 348/275

[Option ID = 7605]

3) Study the table and answer the following questions based on it.

The following table gives the percentage of marks obtained by 7 students
in 5 different subjects in an examination.

(The maximum marks in a subject is 100.)

Subl | Sub2 | Sub3 | Sub4 | Sub5
Student1 40 45 55 65 70
Student2 60 70 75 65 60
Student3 70 74 64 68 72
Student4 50 75 57 65 62
Student5 61 66 72 58 60
Student6 70 65 68 56 78
Student? 65 45 70 52 58

ATfererT T AT B 3R 5T TR AMUTRT Uyl & IR ¢



fraifera arfareT A T w:iem o 5 fafys fawal 7 7 faenfdal grT ura fee
MU 3P B yfaeradar & i g1
TS faud &1 3fedd 3% 100 2|

faug - 1fquy - 2fquy - 3y - 4fQug - 5

faemdf-1| 40 45 55 65 70

faendf - 2 60 70 75 65 60

faemdf-3 70 74 64 68 72

faemdf-4 50 75 57 65 62

femdf-5 61 66 72 58 60

faemdf-6 70 65 68 56 78

faendf-7 65 45 70 52 58

Find out the difference between the average marks in Subject1 (Sub1)
and average marks in Subject2 (Sub2).

fawg - 1 T fAug - 2 & 3MAd 3P| BT 3iaR gdT B -

[Question ID = 1903][Question Description = S2_qSNz_PG_GP8_Q03]
1. 3.13

[Option ID = 7609]
2. 4.07

[Option ID = 7610]
3.3.45

[Option ID = 7611]
4. 3.90

[Option ID = 7612]
Correct Answer :-
e 3.13

[Option ID = 7609]

4) Study the table and answer the following questions based on it.

The following table gives the percentage of marks obtained by 7 students
in 5 different subjects in an examination.

(The maximum marks in a subject is 100.)

Subl1 Sub2 Sub3 Sub4 Subb

Student1 40 45 55 65 70




Student2 60 70 75 65 60
Student3 70 74 64 68 72
Student4 50 75 57 65 62
Student5 61 66 72 58 60
Student6 70 65 68 56 78
Student? 65 45 70 52 58

ATRIPT BT ATYT B 3R 7 R MUTRT Ul & IR <

fmifeea aiferer & ver wdien # 5 fafyw fawal # 7 faenfiay grT ura foe
T 3ip) B! ufa=radr & it g

TS fawy &1 3ifiead 3% 100 g

faug - 1fowy - 2wy - 3fAuy - afawy - 5

faemdt-1| 40 45 55 65 70

faendf- 2 60 70 75 65 60

faemdf-3 70 74 64 68 72

faendf -4 50 75 57 65 62

faemdf-5 61 66 72 58 60

fqemdf-6 70 65 68 56 78

fqendf-7 65 45 70 52 58

In which subject is the overall percentage best?
o fawa ¥ pa yla=raar aad sif¥® 3 2

[Question ID = 1904][Question Description = S2_qSNz_PG_GP8_Q04]
1. Subject 2/fawg - 2

[Option ID = 7613]
2. Subject 3/fa9g - 3

[Option ID = 7614]
3. Subject 4/favg - 4

[Option ID = 7615]
4. Subject 5/fd9T - 5

[Option ID = 7616]
Correct Answer :-
e Subject 2/fd%T - 2
[Option ID = 7613]



5) Study the table and answer the following questions based on it.

The following table gives the percentage of marks obtained by 7 students
in 5 different subjects in an examination.

(The maximum marks in a subject is 100.)

Subl | Sub2 | Sub3 | Sub4 | Sub5
Student1 40 45 55 65 70
Student2 60 70 75 65 60
Student3 70 74 64 68 72
Student4 50 75 57 65 62
Student5 61 66 72 58 60
Student6 70 65 68 56 78
Student? 65 45 70 52 58

ATferepT T 3IeAy Y 3R 59 TR AMUTRT Uyl & IR ¢

frifea aiferet & ver e # 5 ffuw faway # 7 faenfiay grT ura feu
MU 3 B yfaeraar & i g1

TS fawg &1 3fIedd 3% 100 2|

faug - 1fowy - 2wy - 3fduy - afawy - 5

faemdf-1| 40 45 55 65 70

faendf - 2 60 70 75 65 60

faemdf-3 70 74 64 68 72

faemdf-4 50 75 57 65 62

fQemdf- 51 61 66 72 58 60

faemdf-6 70 65 68 56 78

faemdf-7 65 45 70 52 58

Find out the percentage of students having more than 60% in every
subject.

TP faug § 60 % 4 i 3 arat faenRiay &Y yfawaar 2 :

[Question ID = 1905][Question Description = S2_qSNz_PG_GP8_Q05]
1. 14.28

[Option ID = 7617]
2. 28.57



[Option ID = 7618]
3. 42.85

[Option ID = 7619]
4. 30.78

[Option ID = 7620]
Correct Answer :-
e 14,28

[Option ID = 7617]

Topic:- GP8_D1_SH2_Set2_B

1) SWAYAM aims to achieve which of the following three cardinal
principles of education?

w.s?q.aré.q.@. e & foom a9 garya Risial of T s34 1 d98a
IEAT B ?

[Question ID = 1906][Question Description = S2_qSNz_PG_GP8_Q06]
1. Quality, Career and Skills/T0T, Sfta - gy 3R HI=rA

[Option ID = 7621]
2. Access, Equity and Quality/SUNTHA, IR &ﬁT‘IUT

[Option ID = 7622]
3. Affordability, Equality and Quality/ 3% Ugd, THaT 3R 0T

[Option ID = 7623]
4. Innovation, Collaboration and Diversification/-ddR, “v'l%fn"T 3R fafgear

[Option ID = 7624]

Correct Answer :-

« Quality, Career and Skills/[0T, Sfia - il 3R HIA
[Option ID = 7621]

2) According to the theory of multiple intelligences, the ability to

perceive the visual and spatial world accurately, pertains to which human
ability?

Tgfay gf3 & Risia & SR Idtmdr I T Td RIS axgsil & Tan
31 grgdr, A9 91 fra avgar 9 Jefad @ ?

[Question ID = 1907][Question Description = S2_qSNz_PG_GP8_Q07]
1. Naturalist/Upfd IH

[Option ID = 7625]
2. Interpersonal/3icR - dufades



[Option ID = 7626]
3. Intrapersonal/3{=: - 3P

[Option ID = 7627]
4. Spatial/ 1A%

[Option ID = 7628]
Correct Answer :-
« Naturalist/Jfd aqTfE

[Option ID = 7625]

3) Given below are two statements

Statement I: Identity diffusion occurs when individuals explore any
option or commit to any actions.

Statement lI: Identity foreclosure is commitment without exploration.

In light of the above statements, choose the most appropriate answer
from the options given below

RasyafRemu e :

Y[ - | . o9 Afe fredl fareu & gu=afta #3a € a1 fe=) frarsi |
ufda g1d €, drered fagRor gfeq gar g1

DY - |l ; AT RS - Fiey ga=awor & famr ufdagar aidi 21
SWITd HYI & AP |, - fau ¢ faweul ° & 9ad IugE SR 31
Waﬂﬁ'l!:

[Question ID = 1908][Question Description = S2_qSNz_PG_GP8_Q08]
1. Both Statement | and Statement Il are correct/®Y | 3R |1 Ef]:ﬁﬂ%pf%l

[Option ID = 7629]
2. Both Statement | and Statement Il are incorrect/®Y | 3R II ﬁTﬁW%I

[Option ID = 7630]
3. Statement | is correct but Statement Il is incorrect/&4= | T8 %, ﬁﬁ HYF || 7T B

[Option ID = 7631]
4. Statement | is incorrect but Statement Il is correct/ Y- | TTeld %, m HYF Il TgT ]

[Option ID = 7632]

Correct Answer :-

* Both Statement | and Statement Il are correct/h Y | Gﬁ? I ﬁ‘v’lﬁ%l
[Option ID = 7629]

4) Match List | with List Il



List | List 1l

A. Theory of Moral Development I. John Horn

B. Theory of Fluid intelligence Il. Lawrence Kohlberg
C. Theory of Crystallized Intelligencellll. Erik Erikson

D. Moratorium IV. Raymond Cattell

Choose the correct answer from the options given below:

A -1 B g -1l & GATId Pifore

gl -l gt -II

A. Afae faera &1 Rigia 1. ST g1

B. AR §f T Rigid II. AR B
C. Ydipd gfs &1 Rigida . v saa
D. U - TH IV, YHUS Hed

i fag e faeul o 4 Wt W gL :

[Question ID = 1909][Question Description = S2_qSNz_PG_GP8_Q09]
1.A-l,B-IV,C-I,D-l

[Option ID = 7633]
2.A-IV,B-I,C-lll,D-ll

[Option ID = 7634]
3.A-1,B-ll,C-ll,D-IV

[Option ID = 7635]
4. A-Nl,B-Il,C-IV,D-I

[Option ID = 7636]

Correct Answer :-
e A-ll ,B-IV,C-l,D-ll

[Option ID = 7633]

5) The disability characterized by significant limitations in both
intellectual functioning and adaptive behaviour as expressed in
conceptual, social, and practical adaptive skill, is known as-

A. Articulation disorder
B. Intellectual disability
C. Cognitive impairment
D. General learning disability

E. Hyperactivity



Choose the correct answer from the options given below

Tt srymefar o difgs frararear 9yt e sraeR, 94T i a8
YRS, AP qUT YIS SPa- SN § uivafée gar g, #
wewayu URE 3@ ST @, S @ :

A. Siftraafaaerr - faerR

B. SIfS® - sRywda

C. GFHITH® - gdadr

D. HTHT S{TeRTH rawfar

E. Sifafspar=itear

- few e faweul & | |El SR &1 999 Do :

[Question ID = 1910][Question Description = S2_qSNz_PG_GP8_Q10]
1. A, Cand E only

[Option ID = 7637]
2. B, Cand D only

[Option ID = 7638]
3. A, Band C only

[Option ID = 7639]
4. C, D and E only

[Option ID = 7640]

Correct Answer :-
e A, CandE only

[Option ID = 7637]
6) What is the name for a test of statistical significance, which is typically
employed to establish how confident we can be that the findings displayed
in the contingency table can be generalized from a probability sample to a
population?

HifST®! Ag 1 98 S -91 U g e ARy =0 @ g8 yaqive #43
P fore vaT foean wiran © 6 g9 fran fRiadt 81 9d € 5 simura gRoft A
qun&grwq‘faﬁﬁﬂﬁwmgﬁm)$mﬁwﬁ@f@rﬁﬁa%m
ST HHAT @ ?

[Question ID = 1911][Question Description = S2_qSNz_PG_GP8_Q11]
1. Cramer Test/SHR UI&f0T

[Option ID = 7641]
2. Likert Scale/feide AU

[Option ID = 7642]



3. Pearson's r/fUg¥q 3R

[Option ID = 7643]
4. Chi-Square Test/®Ts WHaR TRI&T

[Option ID = 7644]
Correct Answer :-
e Cramer Test/hHR TRIeor
[Option ID = 7641]

7) What type of validity relates a measure to a criterion on which cases
(eg. people) are known to differ and that is relevant to the concept in
question?

5T YR F duar fHd Surg 3 T FHd A s @ o = amal
31yt ) fUa |a Tad €, 3R S UTd YR & fore Wi glar @ :

[Question ID = 1912][Question Description = S2_qSNz_PG_GP8_Q12]
1. Concurrent/gHadl

[Option ID = 7645]

2. Face/%lﬁﬂ

[Option ID = 7646]
3. Internal/ 3R

[Option ID = 7647]
4. Predictive/Hfqwramoh qd

[Option ID = 7648]

Correct Answer :-

J Concurrent/ﬂﬂﬂ?ﬁ
[Option ID = 7645]

8) Given below are two statements

Statement I: The internet provides, an enormous and richly varied source
of freely available information that can be quickly and

easily accessed without the need for spending time on its
reliability and validity.

Statement II: Internet search engines, are very helpful for researching all
sort of information as these help in finding websites and

evaluating them.

In light of the above statements, choose the most appropriate answer
from the options given below



CIEKA K 200 B LK I

FY - | : e [H:X[eP A1 HT THT 98¢ 94T, TR ¥U § fafaeanyf w4
g, for fAyg-iaar 9T AeUdr &t Taxaedl YR AT Jidrd fa=r, =fser aun

ST | wga far o g&ar g1
Y - || : Gt UPR F a1 & WY & e geve 9 So1 980 JeUD
g FifP A dauTge gert SR ST Yedidh+ H TgTadl $vd & |
SWRIF HYI & ATald |, - fr 7T fawal # J Jad Iugad 3w &1
T PIfoIT :

[Question ID = 1913][Question Description = S2_qSNz_PG_GP8_Q13]
1. Both Statement | and Statement Il are correct/ Y- | AR I a:ﬁ“élﬁ%l

[Option ID = 7649]
2. Both Statement | and Statement Il are incorrect/®Y- | AR EﬁTW%I

[Option ID = 7650]
3. Statement | is correct but Statement Il is incorrect/&Y | T8l 8, fob=g ®U Il TTeTd gl

[Option ID = 7651]
4. Statement | is incorrect but Statement Il is correct/%Y | A4 g, % HY 1| 1 5

[Option ID = 7652]

Correct Answer :-

e Both Statement | and Statement Il are correct/®Y- | Gﬁ? 1 E?Fﬁﬂ?ﬂ%l
[Option ID = 7649]

9) Match List | with List Il

List | List I

A. Structured interview ||. Embedded

B. Email Il. Enumeration of an entire population
C. Census lll. Face-to-face

D. Probability sample |IV. Simple random sample

Choose the correct answer from the options given below:
Tl -1 B Gt -1 | gafera sifoe
R - T -

A. TR TIEThTR . 3f=: RITUd
B.3-Ud II. THO] SERIEAT Dt TUMT
C. STFITOET . 3THA - ITHA

D. HHTdT Ufaesf IV, YR TP Ulage




i< fou T fawedl # 4 I8l SR giHT

[Question ID = 1914][Question Description = S2_qSNz_PG_GP8_Q14]
1.A-ll,B-IV,C-l,D-l

[Option ID = 7653]
2.A-1,B-lIl,C-IV,D-Il

[Option ID = 7654]
3.A-I,B-I,C-ll,D-IV

[Option ID = 7655]
4. A-IV,B-ll,C-lll,D -l

[Option ID = 7656]

Correct Answer :-
e A-ll,B-IV,C-l,D-ll

[Option ID = 7653]

10) Given below are stages of research process. Arrange these in the
correct sequence of carrying them out

A. Sampling cases

B. Research question
C. Literature review
D. Data collection

E. Data analysis

Choose the correct answer from the options given below

R0 - Ufehar & wRT i fou e 81 391 fAde s arcil 9 S &t
UgdM

A. ufaeet ArFd

B. XY UY

C. WTfecd Awten

D. 3P ST UG

E. ST faxawor

I faw 7Y fasredi | O Wl IR b1 T BT

[Question ID = 1915][Question Description = S2_qSNz_PG_GP8_Q15]
1.C,B, A, D, E

[Option ID = 7657]
2.A,C,B,D,E



[Option ID = 7658]
3.C,A,D,B,E

[Option ID = 7659]
4.B,D,E A, C

[Option ID = 7660]
Correct Answer :-
e C,B,A D E
[Option ID = 7657]

11) Greeting a person with 'How do you do?' before the actual
conversation begins is called

IRAfd® gradid I g4 O Ugd foeedt safaa &1 Siftare "amu A g 7 |
YEPHA DI PEd @ ¢

[Question ID = 1916][Question Description = S2_qSNz_PG_GP8_Q16]
1. Smart opener/ﬁwa@-lﬂwmﬁ

[Option ID = 7661]
2. Phatic communication/ITHING (Biddh) TRITOT

[Option ID = 7662]
3. Formal intro/ U= U=

[Option ID = 7663]
4. Message prompter/ﬂ%?l &lﬂEﬁW

[Option ID = 7664]

Correct Answer :-

* Smart opener/ﬁﬁq—q'@-lﬁ URFHEHAT
[Option ID = 7661]

12) Which of the following are true of the communication process?
A. It is purposeful

B. Every communication is punctuated

C. It involves choices

D. Sent messages can be uncommunicated

E. Communication does not have the power dimension

Choose the correct answer from the options given below

o ufpa $ IR A FUifFa A A P IR ?

A. 98 S5RUYYf EiaT B



B. I IRIYUT fRMATE - faUT Yo Bid §

c. 399 faweu wffrfea g 21

D. UYa == guifta forw o 9&pd 21

E. GE9oT ¥ =R - 3mary =81 gid &1

T feu T fasedt # & W SR &1 99 P

[Question ID = 1917][Question Description = S2_qSNz_PG_GP8_Q17]
1. A, B and C only

[Option ID = 7665]
2. B, Cand D only

[Option ID = 7666]
3.C,DandE only

[Option ID = 7667]
4. A, Cand E only

[Option ID = 7668]

Correct Answer :-
e A, BandConly

[Option ID = 7665]

13) The general purposes of communication listed by Rubin et al in
sequence are:

A. To play

B. To relate

C. To influence

D. To help

E. To learn

Choose the correct answer from the options given below
9 T4 39 & GRT GAlas IHIYT & AT IR $T IUTHH B
A. T

B. TS BT

C. UHIfad ST

D. HeTIdTl hAT

E. Hrar

e feu e foweul #§ A g SR &1 994 i ;



[Question ID = 1918][Question Description = S2_qSNz_PG_GP8_Q18]
1.A,C,E,D,B

[Option ID = 7669]
2.B,C,A D, E

[Option ID = 7670]
3.C,E,D,B, A

[Option ID = 7671]
4.E,B,D,C, A

[Option ID = 7672]
Correct Answer :-
e ANCEDB
[Option ID = 7669]

14) Given below are two statements, one is labelled as Assertion A and
the other is labelled as Reason R

Assertion A: Effective communication creates identity for individuals and
groups.

Reason R:  Identity is situational and communicators should understand
this.

In light of the above statements, choose the correct answer from the
options given below

et Py fRT T § : TP SfUBUT (Assertion A) F FU T 3T gRT
WW(Reason R)%Wﬁ:

SAFUHYT (A) : THTS THIWUT SfdT T TYE g U &t T9-T ST 2

PRI (R) :  uived, fRATT & IR g1 8 3R THIv® &) 33 JHgHET
|

SWRIad HYAI & TP A, i v faweul § A Jg1 IR BT I99 B :

[Question ID = 1919][Question Description = S2_qSNz_PG_GP8_Q19]
1. Both A and R are true and R is the correct explanation of A/(A) 3R (R) T I % 3R

(R), (A) O U5! AT G|

[Option ID = 7673]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3R (R) S 9T %‘
IR (R), (A) P TG ARSAT 81 5

[Option ID = 7674]
3. Ais true but R is false/(A) ¥ § TRq (R) 39 g

[Option ID = 7675]
4. Ais false but R is true/(A) 39 § TR (R) I &




[Option ID = 7676]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3R (R) ARIRIE) %
3R (R), (A) B TG ST ¢

[Option ID = 7673]

15) Match List | with List I

List | List I

Types of communication Example

A. Synchronous I. Newspaper reading

B. Asynchronous Il. Face-to-face

C. Participatory lll. Head of the organization to employees
D. Authoritarian IV. Boardroom meeting

Choose the correct answer from the options given below:

Tl -1 B G -1 gafera Hifoe

T -l gl -1l

(THIYU & YPI) (SQTEU)

A. ERIAD |. JHTER - UF GeT

B. SrAEPICIP 1. 3THA - "THA

C. FgHTRYar lIl. TS & U o HHATRAL DI
D. J<ITaTG! Iv. ORRUS - B JFHT

i fag e fapeul o 4 Wt W gL :

[Question ID = 1920][Question Description = S2_qSNz_PG_GP8_Q20]
1.A-1,B-lll,C-ll,D-IV

[Option ID = 7677]
2.A-IV,B-1,C-ll,D-l

[Option ID = 7678]
3.A-I,B-1,C-IV,D-l

[Option ID = 7679]
4. A-Nl,B-IV,C-l,D-I

[Option ID = 7680]
Correct Answer :-
e A-I,B-ll,C-ll,D-IV
[Option ID = 7677]



16) What number should replace the question mark(?)?
o, 10, 10, 20, 30, 50, ?

foa den & gr1 yyfg & ufanfia fbar s anfee 2
o, 10, 10, 20, 30, 50, ?

[Question ID = 1921][Question Description = S2_qSNz_PG_GP8_Q21]
1. 90

[Option ID = 7681]
2. 80

[Option ID = 7682]
3. 60

[Option ID = 7683]
4. 100

[Option ID = 7684]
Correct Answer :-
* 90

[Option ID = 7681]

17) The difference of ages of a mother and daughter is 21 and the
product of their ages is equal to 72. find the daughter's age?

TSP HIGT Td T B} 3 PT 3iaR 21 8 3R IAP! Y &1 quHwd 72 81 T
aﬁangslmao“\f:

[Question ID = 1922][Question Description = S2_qSNz_PG_GP8_Q22]
1.3

[Option ID = 7685]
2.7

[Option ID = 7686]
3. 12

[Option ID = 7687]
4.8

[Option ID = 7688]
Correct Answer :-
e 3

[Option ID = 7685]

18) M is the brother of N, N is the daughter of O and P is the father of M,
then how is O related to P?



MBTHTENS, OPITAINTIRM B UATPE, ATOBTP I RITHIY B ?

[Question ID = 1923][Question Description = S2_qSNz_PG_GP8_Q23]
1. Brother/?-ﬂ_sgc

[Option ID = 7689]
2. Sister/dgd

[Option ID = 7690]
3. Husband/dfd

[Option ID = 7691]
4. Wife/Tdt

[Option ID = 7692]
Correct Answer :-
e Brother/ ﬂ-lTsc
[Option ID = 7689]

19)

Given below are two statements

Statement I: If fractions

(L8] EY

and § are arranged in ascending order, then the correct sequence is ; g :

Lo =

1 1 1 1

2 ] 3] 6 G,
L9 3 :

Statement II: g '° smaller than 7+ In light of the abave statements,

choose the correct answer from the options given below :

e RrmE:
-1z om L L L o 2 el o e 8 e e €, Tl

B 1 % iq‘% BT 2| SWiad B! & HEH
g fGu T faseal 5 9 981 ST &1 99 St ;

[Question ID = 1924][Question Description = S2_qSNz_PG_GP8_Q24]
1. Both Statement | and Statement Il are true/@®Y= | 3R || aﬁfw%ﬂ

[Option ID = 7693]
2. Both Statement | and Statement Il are false/hY- | GﬁT 1 Eﬁ’ﬁ W%I

[Option ID = 7694]
3. Statement | is true but Statement |l is false/ Y | W%, W$%Fl Il 3 g

[Option ID = 7695]
4. Statement | is false but Statement Il is true/h Y- | &W%, W$QF-[ Il I Bl

[Option ID = 7696]

Correct Answer :-

¢ Both Statement | and Statement Il are true/ Y- | @T 1 aﬁrw %;I
[Option ID = 7693]



20) Consider following statement:

A. The average of all prime numbers between 30 and 50 is 37.8.
B. 16% of X is 40. The value of X is 240.

C. The unit’s digit in the product (255 x 27 x 182 x 39) is zero.
Which of the above statements is/are true?

frwifea sy w = e

A. 30 ¥ 50 & 19 34 arelt Foft ¢ T=mai &1 NAd 37.8 2
B. X®T 16 % 40 g1 X BT A 240 B

C. 255 x 27 x 182 x 39 & UMW T SHIS 3P Y B
SR RUFYN A A FTIA /8 ?

[Question ID = 1925][Question Description = S2_qSNz_PG_GP8_Q25]
1. Aand C only/WAGﬁTC

[Option ID = 7697]
2. B and C only/&ad B 3R C

[Option ID = 7698]
3. C only/&dd C

[Option ID = 7699]
4. A and B only/&dd A 3R B

[Option ID = 7700]

Correct Answer :-

« Aand C only/3dd A 3R C
[Option ID = 7697]

21) With reference to square of opposition in Logic:

Match List | with List Il

List | List Il

A. If 'A’ is False |I. 'I' is False; 'O' is True

B. If 'E'is True |ll. 'A’ is False; 'I' is Undetermined
C. If 'I'is False |lll. 'E' and 'I' are Undetermined
D. If 'O"is True |IV. 'A'is False; 'l' is True

Choose the correct answer from the options given below:

IR ¥ faRiy & agqys & a<d o



It -1 B gL -1l A gHlerd Sifere .

g -l gt -II

A. 3R 'A’' 39 Bl . 'l' T §; '0' IA g

B. 3R 'E' §T B Il 'A" 3 g I A 21
C. 3R 'I' 3 & . ' 3R 1 A3 &

D. 3R '0' U Bl IV.'A' 3 @; 'I' T g

= fou e faeedl & ¥ I SR g :
[Question ID = 1926][Question Description = S2_qSNz_PG_GP8_Q26]
1.A-1,B-lI,C-IV,D-l

[Option ID = 7701]
2.A-11,B-1,C-lIl,D-IV

[Option ID = 7702]
3.A-N,B-1,C-IV,D-I

[Option ID = 7703]
4. A-IV,B-Il,C-lll,D-l

[Option ID = 7704]

Correct Answer :-
e A-I,B-lll,C-IV,D-l

[Option ID = 7701]

22) When the middle term in some cases relates to the major and in
other cases relates to the absence of the major, it is said to be the fallacy
of

g Hfdug ATHdl § 3 $T A9Y 919 A T 3R $© gO8 UrHdl § 91y &
YT T Bl Y, 3V B -TT gdTHIY P8 § ?

[Question ID = 1927][Question Description = S2_qSNz_PG_GP8_Q27]
1. Sadharana Vyabhichara/dT¥Rul IR

[Option ID = 7705]
2. Asadharana Vyabhichara/3{T¥RUI R

[Option ID = 7706]
3. Anumpsanhari Vyabhichara/&lﬁwglﬁ AR

[Option ID = 7707]
4, Viruddha/laﬁ@

[Option ID = 7708]

Correct Answer :-
¢ Sadharana Vyabhichara/dIURU AR



[Option ID = 7705]

23) Name the fallacy committed in

"All chocolate eclairs are fattening foods because all chocolate eclairs are
rich desserts, and some fattening foods are not rich desserts"

WY FATHTH BT 149 TaTS

It Sipae Taaad Hierur 9eM a1 Hisauerd € waife gt afede
Teigd TR AP ], 3R PO HieTdT 98 ara Hisy - ugrd iy fere
TE 81 2|

[Question ID = 1928][Question Description = S2_qSNz_PG_GP8_Q28]

1. Undistributed Middle/ {1 gq

[Option ID = 7709]
2. Illicit Major/3{aY TTex

[Option ID = 7710]
3. Affirmative Premises; Negative Conclusion/faeTd® &HW; THRIAD GROMH

[Option ID = 7711]
4. Negative Premises; Affirmative Conclusion/®RIH® WRda-T ; faegrare gfkomy

[Option ID = 7712]

Correct Answer :-
« Undistributed Middle/ (T B

[Option ID = 7709]

24) The middle term is related to the major term (Sadhya) as its cause
and is antecedent to it. We pass from the knowledge of the antecedent
cause to that of the consequent effect. It is known as

TG, 9T 9 3P PRUI & ¥Y § &S ¢ 3R 3991 gaug Wi g1 gw It
TdUG HRUT I A 39 UIRUNTHS UG 9% Ugad ol SA Fed @ :

[Question ID = 1929][Question Description = S2_qSNz_PG_GP8_Q29]
1. Purvavat Anumana/UﬁaT‘[ S{FHIT

[Option ID = 7713]
2. Sesavat Anumana/RINdq 3HH

[Option ID = 7714]
3. Samanyatodrsta/ITAFIA! €F

[Option ID = 7715]
4. Parartha Anumana/TRTd S{FHIT

[Option ID = 7716]

Correct Answer :-



* Purvavat Anumana/gddd 3{JHM
[Option ID = 7713]

25) Pick the incorrect statement
TAd HYF BT TG BT :

[Question ID = 1930][Question Description = S2_qSNz_PG_GP8_Q30]
1. Truth and falsehood may be predicted of propositions but never of arguments/dd 3R

3T qh-aTed & AW 8 Yohd § IR db & gl |

[Option ID = 7717]
2. In the case of a deductive argument, the technical terms ‘correct’ and ‘incorrect’

are used/fTTHATAS dh & HTHS B dh-id! Ue Tar 3R TTed Ugad aid g |

[Option ID = 7718]
3. Inductive arguments are neither valid nor invalid but evaluated as better or worse/

STHATESD ddh 9 Y 7 3(dY § SHfUg 9gaR T FGaR & 30 H Fedifod gId & |

[Option ID = 7719]
4. The conclusion of a deductive argument follows from its premises necessarily/

fRTTE® a1 TR STaRg® U J 30 TR BT 3ERUT Bl B

[Option ID = 7720]

Correct Answer :-
e Truth and falsehood may be predicted of propositions but never of arguments/dd

3R 3 dh-aTad & A= §1 ¥ehd g UR] b & gl |
[Option ID = 7717]

26) In a classful IPv4 addressing, what are the number of netID bits and
number of hostID bits for the network Class A?

TP TG IPv4 TSR A Aead 70 A & fore e Ip faew 91 Ie 8k
g ID fica st H@n®T g ?

[Question ID = 1931][Question Description = S2_qSNz_PG_GP8_Q31]
1. 16,16

[Option ID = 7721]
2.12,12

[Option ID = 7722]
3.8, 24

[Option ID = 7723]
4.24,8

[Option ID = 7724]

Correct Answer :-
e 16,16



[Option ID = 7721]

27) URLis a:

YIARTAR :

[Question ID = 1932][Question Description = S2_qSNz_PG_GP8_Q32]
1. Unique Resource Locator/qﬁﬁﬁ@ﬁ?ﬁw

[Option ID = 7725]
2. Unique Remote Loginlqﬁﬁ I ANTSH

[Option ID = 7726]
3. Uniform Remote Login/qﬁ'fﬁﬁ RAe ATgA

[Option ID = 7727]
4. Uniform Resource Locator/ﬁﬁﬁﬁﬁ@ﬁ?ﬁw

[Option ID = 7728]

Correct Answer :-

e Unique Resource Locator/qﬁﬁﬁ@ﬁ?ﬁw
[Option ID = 7725]

28) Which of the following are true?

A. Desktop computer is a general-purpose computer made up of a
separate monitor, keyboard, mouse and processor unit

B. Laptop is where monitor, keyboard, pointing device, processor unit are
combined in a single device

C. Tablet is a device with a touch screen; which has a virtual keyboard
which uses touch screen technology

D. Smart Watch is a device that uses CRT technology so that the screen
can bend around the wrist

E. Mainframe computer runs small application where small data need to
be processed

Choose the correct answer from the options given below:

A. STPETT HHYER TR URUT HFIEX § Ol TP AT Uiy, Biars,
AEY 3R MO gfAe § a1 8|

B. T% RiTIa fearsy ® wigi i, didals, Wigfew f&asy, MEwR gfte
TP H1Y A9 8, AUl Haard g

C. ¢gale e - ThI el aran fEarsy 8, foraeT e agerd Siais gian
8 ©l 9 - TP coIaTel TART Hdl 7



D. TTC 919 U VT fSarsyH @ St CRT dHIalSil UART dl & forast
P BPIF HAS & IRI 3R forue &1

E. AIhH $ICX BI¢ URH I T H3d 8 o161 Bic 3T B WA HI1 Bt
STIRYHAT |

i feu e fAweul § 98} SR &1 IUH P ;

[Question ID = 1933][Question Description = S2_qSNz_PG_GP8_Q33]
1. A and B only/3dd A 3R B

[Option ID = 7729]
2. A, Band E only/®ad A, B 3R E

[Option ID = 7730]
3. A, Band C only/dd A, B 3R C

[Option ID = 7731]
4.A,B,C,Dand E/A, B, C, D 3R E

[Option ID = 7732]
Correct Answer :-

« Aand B only/&ad A 3R B
[Option ID = 7729]

29) Given below are two statements

Statement I: GPS is used to determine the exact location of a vehicle or
other forms of transport.

Statement Il: GPS systems are not safer since the drivers have to consult
maps.

In light of the above statements, choose the correct answer from the
options given below

RgsyTfReme e :

BYT - | : St O T BT YANT U are A1 fhdt gk PR & uikage ol
aéte fRufa ot Aifda o= | fbar siran g

HYF - 11 : St Gt g o JRFE 18 3 Rl arae ot A o) ggrar
a1 TSt B

IR HYA P 3Telid |, 7 few e fawl 7 @ 98 IR 1 99 P

[Question ID = 1934][Question Description = S2_qSNz_PG_GP8_Q34]
1. Both Statement | and Statement Il are true/®Y | 3R I Eﬁ:ﬁw%l

[Option ID = 7733]
2. Both Statement | and Statement Il are false/®YT | 3R 1| Eﬁ:ﬁ GNRI%I

[Option ID = 7734]



3. Statement | is true but Statement Il is false/ P YU | W%‘, WWLF—I Il 38 B

[Option ID = 7735]
4. Statement | is false but Statement Il is true/®Y | 3 T G, fobg B Il T4 Bl

[Option ID = 7736]

Correct Answer :-

¢ Both Statement | and Statement Il are true/ Yy | AR aﬁrw ?fl
[Option ID = 7733]

30) Match List | with List Il

List | List Il

A. Cache memory |[l. Integrated circuit (DRAM)

B. Main memory |ll. Laser Disk

C. Hard Disk lll. High speed Integrated circuit
D. CD ROM IV. Magnetic surfaces

Choose the correct answer from the options given below:

Al -1 B G -1 gafera sifoe

GCL gt -II
A. BRI AERT . RICS Albe (S1.3R.T.TH.)

B. A A II. Ao feT
C. gTs fe . 818 Wi g Afbe
D. S IH Iv. e Ao

I fag e fapeul # 4 |t S gL :

[Question ID = 1935][Question Description = S2_qSNz_PG_GP8_Q35]
1.A-ll,B-1,C-IV,D-ll

[Option ID = 7737]
2.A-1,B-lll,C-lI,D-IV

[Option ID = 7738]
3.A-IV,B-I,C-ll,D-ll

[Option ID = 7739]
4. A-l,B-IV,C-lll,D-Il

[Option ID = 7740]
Correct Answer :-
e A-ll,B-1,C-IV,D-l
[Option ID = 7737]



31) Which of the following source(s) is/are 'nonpoint source(s)’ of
groundwater contamination?

A. Wastewater ponds

B. Refuse piles

C. Landfills

D. Agricultural land

E. Buried storage tanks

Choose the correct answer from the options given below:
T dd e Ea Y- aa - Gguu IR - fig - Aa g ?
A. S[UFRAY STe dTerTd

B. TSI - HIBE B &3

C. dvs - fred

D. PTY - fHr

E. TS §U USRUI &

- for e fawen # & Wl SR &1 99 B

[Question ID = 1936][Question Description = S2_qSNz_PG_GP8_Q36]
1. A, D and E only/%ad A, D 3R E

[Option ID = 7741]
2. A, C and D only/&dd A, C 3R D

[Option ID = 7742]
3. D only/%dd D

[Option ID = 7743]
4. B, C and D only/®dd B, C 3{R D

[Option ID = 7744]

Correct Answer :-
« A, DandE only/3dd A, D 3R E

[Option ID = 7741]

32) Which of the following are nonstructural measures in the context of
Disaster Mitigation?

A. Hazard mapping
B. Raising of homes in flood-prone areas

C. Insurance program



D. Relocating equipment outside flood plains

Choose the correct answer from the options given below:

3aeT - gAewor ¥ wed § Foifed & @ 919 R eara sua € 2

A. S AfREoT

B. 9T¢ HHTfad &1 # &R =11

C. §tu1 wrfswpH

D. 91 aTd TUTl A 3T, SUDRUN DI UFTRATAT BT
- feu ¢ faweul & | HEl SR &1 I Do :

[Question ID = 1937][Question Description = S2_qSNz_PG_GP8_Q37]
1. B and C only/&dd B 3R C

[Option ID = 7745]
2. B, C and D only/&dd B, C 3R D

[Option ID = 7746]
3. A, C and D only/&dd A, C 3R D

[Option ID = 7747]
4. A and C only/3dd A 3R C

[Option ID = 7748]

Correct Answer :-

+ Band C only/&ad B 3fR C
[Option ID = 7745]

33) In a typical fine continental aerosol, according to its composition,
which of the following constituents is most abundant?

TS U HETEId Y&d T §, S9% Hued & o uR, Puifea § @
B 1 HUCH 9garad 8 ?

[Question ID = 1938][Question Description = S2_qSNz_PG_GP8_Q38]

1. Sulphate/‘v’l?eb_cr

[Option ID = 7749]
2. Organic Carbon/SIfd® - HTa

[Option ID = 7750]
3. Elemental Carbon /U@ (e - HIa-

[Option ID = 7751]

4. Nitratelﬁlsaa

[Option ID = 7752]



Correct Answer :-

J Sulphate/‘él?ﬁo_c’
[Option ID = 7749]

34) The main environmental concern associated with geothermal energy
is the release of

e e yardta Sf 3 Ja yg@ gafarvi R g 2

[Question ID = 1939][Question Description = S2_qSNz_PG_GP8_Q39]
1. Carbon monoxide/®Ta - NS S

[Option ID = 7753]
2. Methane/Hg9

[Option ID = 7754]
3. Carbon dioxide/®Te - TTS - HTRSS

[Option ID = 7755]
4. Hydrogen sulfide/gTSSIo Tehigs

[Option ID = 7756]

Correct Answer :-
« Carbon monoxide/®Ta - J—I\Iﬂ\ldﬂlss

[Option ID = 7753]

35) Identify the correct sequence of countries in increasing order of their
present annual carbon dioxide emissions.

A. India
B. China
C. USA
D. Russia
E. Japan

Choose the correct answer from the options given below

TAH TS BT - STS - TS ST P dgd HH & MTYR U SN DI
a1 Y B UgATe :

A. HRd

B. ¥l
C.g,TH. T.
D. &



E. SITUTH
e feu e faeeul @ A g SR &1 994 B ;

[Question ID = 1940][Question Description = S2_qSNz_PG_GP8_Q40]
1.E<D<A<C<B

[Option ID = 7757]
2.E<D<A<B<C

[Option ID = 7758]
3.D<E<A<C<B

[Option ID = 7759]
4. D<E<A<B<C

[Option ID = 7760]

Correct Answer :-
e E<D<A<C<B

[Option ID = 7757]

36) A deemed to be University:

A. must come through a gazettee notification of the Central
Government on the advice of the Commission.

B. has autonomy to run its own courses.

C. can use the word 'University'

D. is a Central University

E. is a State University

Choose the correct answer from the options given below:
s Shrs fayfaemera g4 & fore

A. TINT B GATE UR, % IRPR GIRT ST ATREAT & AT I ST
Sl

B. (U UTSUHH Ta™ & fre Tarawar 3|

c. Tayfaenaa 59 3rsg &1 U HX JHaT B

D. T% $ig fayfaemey 31

E. U 1y fasyfaenera 21

- foT T fawenl ° | Tg SR BT 999 Do

[Question ID = 1941][Question Description = S2_qSNz_PG_GP8_Q41]
1. A and B only/%dd A 3R B

[Option ID = 7761]



2. B and C only/&dd B 3R C

[Option ID = 7762]
3.CandD only/%ﬁ C 3R D

[Option ID = 7763]
4. D and E only/&dd D 3R E

[Option ID = 7764]

Correct Answer :-

+ Aand B only/&ad A 3R B
[Option ID = 7761]

37) UGC was established on the recommendation of:
fayfaemera srgem™ SmahT (g, ot ) Yt RITTHT fraat SR WR 83 ?

[Question ID = 1942][Question Description = S2_qSNz_PG_GP8_Q42]
1. University Education Commission/fayfaarera fRrem smanT

[Option ID = 7765]
2. S. Radhakrishnan/T¥. MYUTHF

[Option ID = 7766]
3. Mudaliar Commission/HalerR SR

[Option ID = 7767]
4. Jawaharlal Nehru/STaTe’dTd A8

[Option ID = 7768]

Correct Answer :-

e University Education Commission/fa%faerera fRrem s
[Option ID = 7765]

38) Major advantage of CBCS is:

A. Shift in focus from teacher-centric to student-centric education
B. Major emphasis on value-based education

C. Prepare student for life-long learning

D. Uniform syllabus for all

E. Offers flexibility in credit transfer

Choose the correct answer from the options given below:

CIACT e A e A kT

A. Rrere Higa Rign & o1 - $iga Ren ) o - fdg &1 9mmw=



B. Hed - STYUTIR - fR1&T IR ST Wik

C. 3AToita - ARATY 3 BT B R B

D. ¥t & forg U= ureusH

E. SiaRor ® et Siftfa #ear g

i feu T faswedt # & W SR &1 99 Do

[Question ID = 1943][Question Description = S2_qSNz_PG_GP8_Q43]
1. A and B only/&dd A 3R B

[Option ID = 7769]
2. Aand C only/3dd A 3R C

[Option ID = 7770]
3. Aand D only/3dd A 3R D

[Option ID = 7771]
4. A and E only/®ad A 3R E

[Option ID = 7772]

Correct Answer :-

« Aand B only/%ad A 3R B
[Option ID = 7769]

39) Based on the order of Hon'ble Supreme Court of India, UGC has
introduced:

YR & AT SHaH HATad & 3SR & YR R, fayfaeney seM
START (g 5it ) 7 wga frar @

[Question ID = 1944][Question Description = S2_qSNz_PG_GP8_Q44]
1. Choice-based credit system/d-Id TR & AT

[Option ID = 7773]
2. Module on Environmental studies at UG level/3{aR HTd® ¥R TR TIGRUN 3T R
HUCUS

[Option ID = 7774]
3. Regulation for M.Phil/Ph.D. Coursework/QT[ﬁh_cf / tﬂ.@.?ﬁ. UiSAeh H - wlif%ﬂﬁﬁ?m—r[

[Option ID = 7775]
4. Minimum qualification for University teachers/fayfagerda sl %ﬁ YAdH 3

[Option ID = 7776]

Correct Answer :-

« Choice-based credit system/J1d SYTRT 4T T
[Option ID = 7773]



40) 'Open learning’ denotes

A. Flexibility with respect to time and space

B. Learning in open space

C. Learning without any formal qualification

D. Flexibility with respect to evaluation

E. Learning free of cost

Choose the correct answer from the options given below:
Hod JferT fAfdy wvan g

A. BT 3R VI & T~ | T8l

B. od R ¥ iftry

C. e ardar & fomm arferra

D. i & Ay H TRl

E. 3o aiferma

a far e fawen # & WE SR &1 99 B

[Question ID = 1945][Question Description = S2_qSNz_PG_GP8_Q45]
1. A and B only/3dd A 3R B

[Option ID = 7777]
2.B, Cand E only/®ad B, C 3R E

[Option ID = 7778]
3. Aand D only/3dd A 3R D

[Option ID = 7779]
4. A and E only/&ad A 3R E

[Option ID = 7780]

Correct Answer :-
+ Aand B only/&dd A 3R B
[Option ID = 7777]

Topic:- GP8_D1_SH2_Set2_C

1) Read the passage and answer the following question.

Few subjects have been more controversial in development thought than

the relation between population and development. This has perhaps been
inevitable, given the intellectual history of the subject. The influence of

Malthus has not been helpful. Even though he revised his original harsh



thesis so that in the later editions of the Essay he had accepted positions
that fundamentally undermined it, his 'iron law' inspires generations of
reactionary thinkers: they took the line that there was no point in helping
the poor-they would only 'breed' more until war, hunger or disease cut
them down. At least as far as the North-south debate was concerned,
population control was a northern idea, dressed up as an aid to
development and the reduction of poverty; in the south,
underdevelopment was more often regarded as the result of the northern
domination of the world economy, if not of capitalism itself; certainly, it
could not be explained by excessive growth in population. The most
difficult issues in the analysis of national effects are the oldest- the effect
of population growth on per capita income; and the newest-the effect on
the environment. In an earlier study, population growth was associated
with reduced savings and therefore reduced GNP, and ipso facto, with
reduced per capita income. This is no longer believed. The mechanism by
which population growth reduced GNP growth were supposed to be mainly
two: a negative impact on savings because of an increased burden of
dependency; and a diversion of investment from more or less productive
uses, i.e from agriculture, industry, and infrastructure to health,
education and welfare services. In fact, the Indian capital-output ratio did
rise, but not because of any such diversion of investment; on the contrary,
successive plans allocated marginally more overtime to productive
sectors, despite population growth being higher than the plans assumed;
the share of education and health in plan outlays actually declined slightly
from the second to the sixth plan. It is well-known that the Indian growth
problem was one of low returns to rising levels of savings and investment.

1 AT ¢ TRl B WHYd® UgdH SUP SATUR W T TT U BT I
difere

faeprITa® i § Sien 9uT faer™ & v Iy & ga1 3 9o fawg
warel faarfed @ §1 fov & difg® sfae & smeie o I™ad: a8
JUTEt BTI AT BT YHTT WETaS 8! ¥eT| gTaifh Sgiv U1 H¢
TMY-UF B TR 3 A, 39 TR | fob ey & Sarad! s o
S5 fRufadl @1 WieR fear el 53 gayd vu 3 afa ugardt &, 37
ae-faftr A ufafparard) foare! @1 difewt # afva frar 81 319 unt
ST {6 TS B Jerrdar FRA$ § -3 Faa R e 97 99 99 g,
UG T SR I FH T B &1 HH A HH o8 9 IR Ud i1 & faarg
o1 - 8, Sae g te sl faur o, fe ok Ridear &
BT S TS & FU W TAI-UT; Sf0T F SeufdwTa &l agum afye
SrferaRyT W I UY P URUIH & U H FHHT ST §, 3R IE Yoidig
F1 81 § I, e U I 39a! saren 9 9@ 91 srafys gfe & su
T8 B o1 gt At 1 IFH yuTa B faweivor F G99 HiT THRAn yrdaad
2 - sFgEn gfg &1 ufd safed sma wR wyiE; 3R Fdi=aw - waiaror =



UHUTd | T Jd 30 H, SIS i GHlPpd Jdd 3R 59 YPR gdipd
HHd AP I, SR 9d:, TIPd Ui AfTT ST A THIF 471 3« 30 W
fayra =1eY e wiran 91 9 9= o s gfs A 9 a TP Iarg o
o frar, & gera: el & 9¢ U 9 & PR 599 W TSRS JHG
3R U SATGAPRI WANT A A< &1 faua gyt $Y I i w@=a
FAEVHR Fa13fi F MUTRE JTAT, A ) HHT o GodTl 3| IR H
YR Yoit ffa srqura 9¢1, dfe saveR & e & faaas & R
T81; 39 f[Auid, 99 & 914 SATGIPRI &A1 # Hicud o1 | iftre
STESAT 9fs g1 & d1ae]e ATd! e giemd fafafgd @ i, gt |
TSI i | e ik TRy & TISH1-3g $1 3% IRafd® 39 § ST HH
gIT 31 Ug 9d-fafed 3 fr uRdtg dgfs v fAawr ok s9d & 9¢d §U
TR & g YdEaa-i # 9 T A

The iron law of Malthus says that

[Question ID = 1946][Question Description = S2_qSNz_PG_GP8_Q46]
1. Population shall be controlled /ST FARd gRfT

[Option ID = 7781]
2. Nature takes care of poverty/ﬂ?ﬁ, RIS &1 & ] %I

[Option ID = 7782]
3. Poor people do not deserve any support/ﬁ%ﬁ AT Tt weTaar - uiftd & gy :@%I

[Option ID = 7783]
4. War, hunger, and disease are inevitable in human society/lilﬂ'q’wx_rrﬁﬂ@, el 3R

e srafeerd B

[Option ID = 7784]

Correct Answer :-
« Population shall be controlled/Se FafAd grft

[Option ID = 7781]

2) Read the passage and answer the following question.

Few subjects have been more controversial in development thought than
the relation between population and development. This has perhaps been
inevitable, given the intellectual history of the subject. The influence of
Malthus has not been helpful. Even though he revised his original harsh
thesis so that in the later editions of the Essay he had accepted positions
that fundamentally undermined it, his 'iron law' inspires generations of
reactionary thinkers: they took the line that there was no point in helping
the poor-they would only 'breed’ more until war, hunger or disease cut
them down. At least as far as the North-south debate was concerned,



population control was a northern idea, dressed up as an aid to
development and the reduction of poverty; in the south,
underdevelopment was more often regarded as the result of the northern
domination of the world economy, if not of capitalism itself; certainly, it
could not be explained by excessive growth in population. The most
difficult issues in the analysis of national effects are the oldest- the effect
of population growth on per capita income; and the newest-the effect on
the environment. In an earlier study, population growth was associated
with reduced savings and therefore reduced GNP, and ipso facto, with
reduced per capita income. This is no longer believed. The mechanism by
which population growth reduced GNP growth were supposed to be mainly
two: a negative impact on savings because of an increased burden of
dependency; and a diversion of investment from more or less productive
uses, i.e from agriculture, industry, and infrastructure to health,
education and welfare services. In fact, the Indian capital-output ratio did
rise, but not because of any such diversion of investment; on the contrary,
successive plans allocated marginally more overtime to productive
sectors, despite population growth being higher than the plans assumed;
the share of education and health in plan outlays actually declined slightly
from the second to the sixth plan. It is well-known that the Indian growth
problem was one of low returns to rising levels of savings and investment.

?ﬂ%?qwmﬁmmwmanww@wqwmw

famraras fawaa § sSaen auT faer & g = ot gaqr § 99 fawg
wTel faarfea vg €1 fawa & sife® sfae & emeie © g™iad: a8
3uf¥erd BTI W &1 YHTT YT el 3811 gTeife I8 MU Hg
TMY-UF Dt TRIGHA 1 A, 39 ISR 9 & e & IwRadl SGoon o
S5 fufaal @t Wer fear el 53 gayd vu 3 afa ugard &, 37
ee-faftr 3 ufafrarard) faare! @1 difedl & wka fear g1 319 ARt
ST & TSl B Jerrar FRA® § -3 Faa R $if¥e 97 99 99 g,
Y IT SR I8 PH A B S| BH A HH W1 a9 IR U i1 & faareg
&1 R4 8, S9en g te 3ot faur o, faer ok Ridear &
BV & TGRS & FY | AoI-UeT; Sfeor § reufdsre ot agur af¥e
fHERIT W I Y F URUMH & $U & AT S1al 8, 3R I8 Yoidle
$1 81 8 i, Ffa U I s9a! saren s 9@ 91 safys gieg & su
T8I B o1 gt At 1 AT yuTa B faweivor § G99 HiT TR yrdad
? - S gfg @1 ufd safdt o W guTe; 3R FdHaw - wafarur =
YUTT | Th Yd g §, S-S gfg gHIpd 99d 3R 59 PR gIpd
T d PN SATE, MR qa:, aPd Ul safed oM & Wl ATl 36 39 IR
fayra =15t e wiran 31 98 9= o sen gfs A 9 a TP Iarg o
Y a1, 3 g@ra: FRar & 9¢ g 915 & FRUI 99d R THRIES UHE
3R FHIAR IATGTPRI YT F 9= &7 fauy= gyt $iY I 3k WA



HIMUTBRT AT & MMYUTRD JITHT, A Gl /T ST hdl g | IRdd |
YR Yoit ffa ergurd 9¢1, dfd saveR & 9w & faaas & R
ol; 59 fAudid, Y & 914 SATGAPR! &A1 H Hicud dre-1sh o 3iftre
SIS g 811 & qraslg ATE Siue aiee fafifga ot i, gadt 9
T3l AT A e 3R WY & YISH1-3Y &1 3 IRAfAP U # dIST $H
g3IT 31 Ug 9d-fafea 3 fr uRdta dgfs awwar fHa=r ofik s9d & 9¢d §U
TR & g Y-l # 9 T A

The concept of population control for development originated in
fawTa 8q e A Y Jeeur wgydd 835 ¢

[Question ID = 1947][Question Description = S2_qSNz_PG_GP8_Q47]
1. The developed North/fd®fad IR (ﬁ'QIT) |

[Option ID = 7785]
2. The developing South/famraRita gféror (fa=m) H

[Option ID = 7786] .
3. The Capitalist world/‘fllﬁﬂaﬁ SR

[Option ID = 7787]
4. The non-capitalist part of the world/fay & R Ujrﬂ'q'l_cﬂ Y

[Option ID = 7788]

Correct Answer :-

« The developed North/fd® R IR (fazm) &
[Option ID = 7785]

3) Read the passage and answer the following question.

Few subjects have been more controversial in development thought than
the relation between population and development. This has perhaps been
inevitable, given the intellectual history of the subject. The influence of
Malthus has not been helpful. Even though he revised his original harsh
thesis so that in the later editions of the Essay he had accepted positions
that fundamentally undermined it, his 'iron law' inspires generations of
reactionary thinkers: they took the line that there was no point in helping
the poor-they would only 'breed' more until war, hunger or disease cut
them down. At least as far as the North-south debate was concerned,
population control was a northern idea, dressed up as an aid to
development and the reduction of poverty; in the south,
underdevelopment was more often regarded as the result of the northern
domination of the world economy, if not of capitalism itself; certainly, it
could not be explained by excessive growth in population. The most
difficult issues in the analysis of national effects are the oldest- the effect



of population growth on per capita income; and the newest-the effect on
the environment. In an earlier study, population growth was associated
with reduced savings and therefore reduced GNP, and ipso facto, with
reduced per capita income. This is no longer believed. The mechanism by
which population growth reduced GNP growth were supposed to be mainly
two: a negative impact on savings because of an increased burden of
dependency; and a diversion of investment from more or less productive
uses, i.e from agriculture, industry, and infrastructure to health,
education and welfare services. In fact, the Indian capital-output ratio did
rise, but not because of any such diversion of investment; on the contrary,
successive plans allocated marginally more overtime to productive
sectors, despite population growth being higher than the plans assumed;
the share of education and health in plan outlays actually declined slightly
from the second to the sixth plan. It is well-known that the Indian growth
problem was one of low returns to rising levels of savings and investment.

T foT T i B WTFYdS UgdH ITD YR WR YD T ¥Y HT IR
difeg

faprTa® i @ S ien 9uT fae™ & v Iy & gar 3 9o fawa
el faaried 3 81 fawa & difge sfaemy & smale ¥ awvaa: 98
SURET gAT| AT BT YUTT TS 81 ¥aT| gTaifh 3gi+ U+ Hg
MY-UF P TRIGHT BT A, 39 T6R A for e & Iwradd! dxowon @
S5 fRuforat 1 TR far forgia 38 qayd vu @ afa ugardt &, 37
arg-faftr A ufaferarard) el @1 difeal o ufva fear 81 =i ant
ST fF e &Y Jerdar FRAS § -3 Faa R e 97 o9 99 g,
YW 1 SIART 3% A AP &1 BH J BH 8l 9 3w U4 <& & faarg
o1 famae 8, s9rae e te S8 faar o, faer ok fAdsar &
BT & S & $U W FAT-USlT; SfE0r § reufdwra &f agem affe
SfegaRT WX IR YA & URUMH & U H THT A1 8, 3R Ig Yoidig
$1 81 § qI, FIf¥a U § sua! saren 9 9. #1 dafued gig & $u o
81 @ ST Hepd! AT | TR gHTg Fi fazavor § ga9 ST wHwn yrdad
2 - ST gfs @1 ufd safdt 8 W) gHTg; 3R FdHaH - TaiaRur =
YHTT | TP Ud 3¢9 §, 9@ gfes <Hipd g9d 3R 59 YPR geipd
HHd AP IAG, 3R 9d:, dIPd Ul AfaT T F T IF UT1 36 30 W
fayra =t foran oiman 31 98 o forad Sien 9fs A woa APk Sare o
$Y a1, o g@Ia: FRar & 9¢ §U 915 & FRUI 99d WR AHRIES YU
3R FHAY IATGAPRI WART A A< &1 A= gur HY I i =y
HTUGR GaT3ll & MRS TTAT, T S AT S AHhd 8 | aead o
YR Yot ffa srqurd se1, dfh suveR & a9 & fagea & sRu
Tel; 39 [Audid, T0T & Y IATGAPRI &A1 § Dieyd grerreil J it
e gfe B9 & dracg ARgelt it gierme faffea & wff, gait @



To! TIeT H RIT 3R TR & ISHT-ad BT 3R dRdIdd U H YIST HH
g3IT 31 gg 9d-fafea 3 fr uRdia dgfs awwar fHawr ofik s9d & 9¢d §U
TR & g YA+l # 9 T A

The countries of the South believed that the problem of
underdevelopment was because of

aféror & w1 faywa 3 f srcufaeTa & T &1 FRUT YT :

[Question ID = 1948][Question Description = S2_qSNz_PG_GP8_Q48]
1. Lack of investment in welfare sectors/®cdIUIBRI &3 § AR BT UG

[Option ID = 7789]
2. Capitalism as an economic solution/tisrﬂa'laof, Udh SIRER B8d *» =0 H

[Option ID = 7790]
3. Economic control of the rich nation/&=T =1 &1 3MTfe =T

[Option ID = 7791]
4. Excessive population growth/ 3% S gfa

[Option ID = 7792]

Correct Answer :-
e Lack of investment in welfare sectors/®edTOIBIRY éﬂ?f T 9 &7 341G

[Option ID = 7789]

4) Read the passage and answer the following question.

Few subjects have been more controversial in development thought than
the relation between population and development. This has perhaps been
inevitable, given the intellectual history of the subject. The influence of
Malthus has not been helpful. Even though he revised his original harsh
thesis so that in the later editions of the Essay he had accepted positions
that fundamentally undermined it, his 'iron law' inspires generations of
reactionary thinkers: they took the line that there was no point in helping
the poor-they would only 'breed’' more until war, hunger or disease cut
them down. At least as far as the North-south debate was concerned,
population control was a northern idea, dressed up as an aid to
development and the reduction of poverty; in the south,
underdevelopment was more often regarded as the result of the northern
domination of the world economy, if not of capitalism itself; certainly, it
could not be explained by excessive growth in population. The most
difficult issues in the analysis of national effects are the oldest- the effect
of population growth on per capita income; and the newest-the effect on
the environment. In an earlier study, population growth was associated
with reduced savings and therefore reduced GNP, and ipso facto, with



reduced per capita income. This is no longer believed. The mechanism by
which population growth reduced GNP growth were supposed to be mainly
two: a negative impact on savings because of an increased burden of
dependency; and a diversion of investment from more or less productive
uses, i.e from agriculture, industry, and infrastructure to health,
education and welfare services. In fact, the Indian capital-output ratio did
rise, but not because of any such diversion of investment; on the contrary,
successive plans allocated marginally more overtime to productive
sectors, despite population growth being higher than the plans assumed;
the share of education and health in plan outlays actually declined slightly
from the second to the sixth plan. It is well-known that the Indian growth
problem was one of low returns to rising levels of savings and investment.

I fAT 1T TR B AFYd® TEHR I STYR W TS T ¥Y T SR
difre

famraras fawaa @ saen auT faer & gwr = ot gaq1 § 99 fawg
wrel faarfed @ 71 v & difse sfasra & smete # 9vaa: 18
UG gIaT| AT BT YHTd TgRI® gl ¥all gTdifd I5i+ 3+ Hg
MY-UF Dt TRIGMA 1 A, 39 ISR F & e & SwRadl dGoon o
S5 fRuforal 1 R frar i 38 qaya vu @ afa ugardt &, 37
wre-faftr A ufafrarard) faare! @t difeal #1 afva fear 81 3= ant
ST & TSl B Jerrar FRAS § -3 Fad iR Sifte 91 99 99 g,
Y IT SR I PHA B S| BH A $H W1 a9 IR U I & fIare
o1 famae 8, s9ae e te S8 faar o, faerg ok fAdsar &
LB & TS & $U | FAl-USlT; S0 § Seufdwa &I agem afye
SferaRT W I YA & URUMH & U T AT A1 8, 3MR TE Yoildig
&1 e ® <, Ff¥d v A 39} e e B rafie gfe & v
81 & ST Hepd! AT | TR UHTE Pt fazawor § g9 BT wHEm yriaH
2 - SE g @1 ufd safad Sma W yuTa; SR Adi-ay - waiero W
YHTG | T U4 309 §, S@ gfe <pd 9ad 3R 59 UPR geipd
o d AP SATG, R ad:, TIPpd Ul AR S § T ATl 3F §9 W
fayra =1eY e wiran 91 9 o= ford sen gfs A 9 a TP Iarg B
4 a1, ot g@ra: FRar & 9¢ g 915 & FRUI 99d R AFRIES UHTE
3R FHAY IUTGAPRI T § a1 &1 fAuy= gyt F I i @y
FATUGR] Aqri & MU GG, A g1 4HT o1 IHdl ¢ | IRad o
YR Yoit fAfa srqurd 9¢1, afe saveR & e & faaas & sRu
Tel; 39 AW, W9 & Q1Y SATGTSRI &= H Siekd grorH3i § 3ifie
W@ gfes 81 & dras]g Ange e dieme fafafea & it gait @
B3I T H fR1em 3R WA & FIHI-o9T $T 3% aRdfd® U 6 UIST HH
g3IT 31 gg 9d-fafed 3 fr uRdtg Sgfs 9w fAawr ik s9d & 9¢d §U
TR & g YAl # 9 T A



Which of the following are the negative effects of population growth on
gross national product, according to the earlier notion?

(A) Reduced scope for investment in key sectors

(B) Less savings because of increased dependency

(C) Diversion of investment from productive sectors to other sectors
(D) Higher capital-output ratio

Choose the correct answer from the options given below

R YR & AR, Faifea 3 4 o9 god AP Idg W) SE
(S & TORTES YUE §

A. HEwaqU & # 9% 8 g e

B. Jafta fAvRar & s &9 T9a

C. SUTGASRY &1 A gk &A1 | fa=r &1 fauy=

D. 3= Yuil Al srqurd
e feu e foweul @ A g SR &1 994 B ;

[Question ID = 1949][Question Description = S2_qSNz_PG_GP8_Q49]
1. A and B only/3dd A 3R B

[Option ID = 7793]
2. B and C only/%dd B 3R C

[Option ID = 7794]
3. C and D only/3dd C 3R D

[Option ID = 7795]
4. A and D only/&dd A 3R D

[Option ID = 7796]

Correct Answer :-

e Aand B only/®ad A 3R B
[Option ID = 7793]

5) Read the passage and answer the following question.

Few subjects have been more controversial in development thought than
the relation between population and development. This has perhaps been
inevitable, given the intellectual history of the subject. The influence of
Malthus has not been helpful. Even though he revised his original harsh
thesis so that in the later editions of the Essay he had accepted positions
that fundamentally undermined it, his ‘iron law' inspires generations of



reactionary thinkers: they took the line that there was no point in helping
the poor-they would only 'breed’' more until war, hunger or disease cut
them down. At least as far as the North-south debate was concerned,
population control was a northern idea, dressed up as an aid to
development and the reduction of poverty; in the south,
underdevelopment was more often regarded as the result of the northern
domination of the world economy, if not of capitalism itself; certainly, it
could not be explained by excessive growth in population. The most
difficult issues in the analysis of national effects are the oldest- the effect
of population growth on per capita income; and the newest-the effect on
the environment. In an earlier study, population growth was associated
with reduced savings and therefore reduced GNP, and ipso facto, with
reduced per capita income. This is no longer believed. The mechanism by
which population growth reduced GNP growth were supposed to be mainly
two: a negative impact on savings because of an increased burden of
dependency; and a diversion of investment from more or less productive
uses, i.e from agriculture, industry, and infrastructure to health,
education and welfare services. In fact, the Indian capital-output ratio did
rise, but not because of any such diversion of investment; on the contrary,
successive plans allocated marginally more overtime to productive
sectors, despite population growth being higher than the plans assumed;
the share of education and health in plan outlays actually declined slightly
from the second to the sixth plan. It is well-known that the Indian growth
problem was one of low returns to rising levels of savings and investment.

T f3T 7T TRIiR B WFYd® UgHR 3P AHTYUR W W T UY $T I
difeg

famraras fawa § saen auT fae™ & gor aia= ot gaqr § $© fawg
el faarfed 3 81 fawa & difge sfoemy & sl ¥ awaa: 98
SURET gIaT| TR BT YHTd TgI® gl ¥aTl gTdifd Igi+ U+ Hg
MY-UF Dt TRIGMA BT A, 59 IHR A & ey & IwRadl SGoon o
3= fRufaal ot WeR fear ol 38 qaya vu 9 &fa ugardt R, 39
are-faftr A ufafrarard) faare! @t difeal #1 afva fear 81 311 ant
AT fF T B Jeraar AR g -3 Fada SR Sifte FHN 99 aF I,
Y T SR I FH T B &1 HH A HH o8] b IR Ud i1 & faare
o1 famae 8, s9ae e te 38 faarR o, faer ok fAdsar &
B F e & U T Foll-USlT; 0T H Sreufdd o) ager afye
SforawRIT IR I Y@ F uRumy & U § HST W16l 8, 3R Ig Yoilalg
P18l § aI, FIfa U d s9a! saren 99 91 s|afue gig & su
81 & ST "epd! AT | AT gHTa Fi fazawor § gad BT wHEm uri=aH
? - SFE@IT gfg @1 ufd safdt 8 W) gHTg; 3R FdHad - TaiaRur =
YHTT | Th Yd 3eqgd §, SFEEIT gfg gHipd g9d iR 39 PR g Ipd
HHd AP IAG, R 9d:, TIPd Ul Al T § THIF UT1 3€ 30 W



fayr et fovar &iTaT 71 98 9 forad S9a@ g A 9o d AP IdTE Bl
$4 fHa1, ot g@ra: FRar & 9¢ g 919 & FRUI 990 W AHRIAS YU
3R FHIA IATGTPRI YT J 9= &1 fauy= gyt $iY I Sk WA
FTUGR GaTell & MRS T, T S AT S JHhdl 8 | aead o
YR Yoit fAfd Srqurd 9¢1, dfd saveR & 9= & faaeas & R
Tet; 39 [Audla, §Ha & A1y SATETHRI &3l | ek et 4 siftre
e gfes 311 & dracg ARgelt it giere faffea & wff, gait @
T3l TISAT A R 3R WY & YISH1-3Y &1 3% IRAfP U & dIST $H
g3 81 ug 9d-fafea g for uRdia dafs awear fawr o 999 & 9ed g¢
TR & g Y-l d 9 T A

According to the author of the passage,
TR & AEP & IR :

[Question ID = 1950][Question Description = S2_qSNz_PG_GP8_Q50]
1. The Malthusian theory is still relevant/HATed¥d &1 fRigid 3(q ot Cﬂﬂm gl

[Option ID = 7797]
2. Population growth affects a nation's GNP adversely/Ud ¥ & IHd TI'QQI“C[ Sdlq UR
SHEReT gfg faudia ouTa STerd |

[Option ID = 7798]
3. Reduced GNP means reduced per capita income/ﬂ?ﬂ% Hohdl TI@“C[ IdTG o1 37
Tiipd ufdoafa 3ma g1

[Option ID = 7799]
4. In India, development is affected by low returns for more investment/HRd ff, 3%

9% & o =77 yarads ¥ faera ywifad giar ]|

[Option ID = 7800]

Correct Answer :-
« The Malthusian theory is still relevant /ATl &1 fRigid 3fq ot WW gl

[Option ID = 7797]



